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33661114 bhunwupy 0,005% 24 9L hwwn 450 6000 2700,0
33661120 Unpdhuh hhnpnpinphn 1%-1d; 9L hwn 450 1200 540,0
33661123 Sphdbwhpnh 2%-14) 9L hwwn 0 500 0,0
33661136 Hhwgbiuyuwd 10dg/2d; 9L huin 100 2000 200,0
33661135 Uhnugnqud 15dq 34 9L hww 428 500 214,0
33691176 Uypinbiwwq 50dq/504; GL hwwn 169000 140 23660,0
33611350 Uuynpphtwpepent 5%-54; 9L hwwn 0 12000 0,0
33611350 Uuynpphuwppnt 5%-20; Q< hwwn 35,5 12000 426,0
33611130 Uinpnwhth unybwn nidnyp 0,1%-1d) q< hwwn 55 3500 192,5
33621160 Udhunyunypntiwppent 250 9L hwuwn 1100 990 1089,0
33631370 Uwnpwlniphnudh phighjwn 10dg/01-2,50; G< hwwn 309,9 2000 619,8
33661183 Shuwwnpwlmphnuih pighpwn 5dq/2,54; 9< hwwn 0 1000 0,0
33661184 Shuwwnpwlniphnuih plighjwn 5dg/2,50; G hwwn 1008 500 504,0
33661115 Pnuyhyuluwht 44 9L hwwn 214,8 1200 257,8
33691138 Fyyniyng 5%-25041 < hww 245,9 1200 295,1
33691138 Synilyng 5%-5004] 9< hwwn 255,9 4800 1228,3
33691138 Qynilyng 40% 51 9< | hwwn 0 3000 0,0
33691139 Syniyng 40% S QL hwiwn 37,97 1500 57,0
33661153 "Hipuwdbpwgnt witwlwphy 100 < hwn 0 40 0,0
33661153 "Hipuwibpwgnt witwlwpehy 104 < hwn 610 38 23,2
33661153 “Hipuwdbiinwgnt 4dg/dj-1d; &< hwn 23,4 10000 234,0
33671130 THhpbuhhnpwdhu 1%-10) < hwwn 20,8 40000 832,0
33621400 Towwdht 40dg/d| S0 9L hwwn 580 1500 870,0
33611170 “nunwybpht 40ug/d) 2d; 9L hwun 36,8 2500 92,0
33611170 "pnunwybiph 40dg < hwwn 6 1200 7,2
33631310 THiyin$buwl 75 dg 3d; R hwn 67,8 12000 813,6
33651127 "tnpuhghlihth h/p 100dq Q< hwwn 133,19 1000 133,2
33621760 Euwjwuwyphy 10dg Q<L hwwn 4,85 15000 72,8
33691202 Eunwdghpwn 250dq/d; 24, < hwwn 150 7000 1050,0
33621290 Fwhtub$pht /wnpbliwht/ 0,12%-1d; 9L hwwn 80 2000 160,0
33611370 fFhwdht pinphr 50dg/d; T4y G< hwuwn 26,9 5000 134,5
33661113 fShnuwbuunw| bwwnphnul 1,0 < hwwn 2840 480 1363,2
33691141 BFeywdht pdrywljwl < hwn 0 8000 0,0
33661110 hgn$ynipwl 2504 < hwwn 0 200 0,0
33661110 handynipwts 2504; < huin 30000 10 300,0
33661110 Pandyniput 1000] o< | hwwm | 74499 800 5959,9
33691176 hunndbinwght dndhy 9L hwuwn 0 480 0,0
33631283 Lhghtunuphy 10dq < hwwn 12,5 4800 60,0
33661116 Lhnnywihup hhnpnpinphn. 2%-200 < hwn 756 500 378,0
33651138 Lun$inpuwight -p U/k 0.5% 1004 Q< hwn 0 600 0,0
33651138 Lun$inpuwight |- U/h 0.5% 1004 QL hwwn 1019,9 200 204,0




33651138 Lun$npuwights nhin 500dq Q< hwwn 78,8 2000 157,6
33611420 Ywighnuh gyniyntiwn 10%-50) < hwtn 88 2000 176,0
33691134 “wihnuih pinphn 4%-2000; < hwwn 468,8 300 140,6
33691213 “tunwuh Ywpbwppwiht pulwtphwutp / Luphub < hwun 0 6000 0,0
33651212 Suwlywithwinwgiwl wlunnpuhl 0,50; < hwwn 550 600 330,0
33621100 Lbujwpht 5000dy/d) 50 < hwwn 938 16000 15008,0
33691814 <hnpopuhkph| oujw 6%-5000) <L hwtn 3500 210 735,0
33621610 Uwiihuinng 10%-4004; <L hwn 3850 350 297.5
33601218 | U wablighnu wuyuinunh wbwnpuwhhnpuwun, Guiind ¢ | huw 480 1500 720,0
wuwwnunwwnh hbdhhhnpwwn 104
33691145 Uwqbighnud unybun 25% 54 S< hwwn 28,45 8000 227,6
33661127 Utinwdhgn| bwwnphnid 50% -24) G<L hwwn 37,6 40000 1504,0
33611160 Utinnlynwpunihn 5q/i) 24 9< hwun 41,1 12000 493,2
33691112 Ubinpnthrpugng 1004 < hwwn 199,8 10000 1998,0
33651139 Unpuh$iopuwght wltiwlwyehy 0,5% 54| < hwwn 1199,9 40 48,0
33651139 Unpuhbjopuwghti 2504, < hwn 0 1800 0,0
33691154 Snhbipun) 1004 L hwwn 8650 1000 8650,0
33691154 Bnhtipun; 501 QL hwiwn 4900 2000 9800,0
33691157 Snnhpuwling 1004 Q< hwwn 0 180 0,0
33691157 3nnhpuwting 1004 < hwwn 17000 60 1020,0
33691136 Lwwnphnuih pnphny 0,9% 2504 Q< hwn 0 36000 0,0
33691136 Lwwphnuih pinphn, 0,9% 2504 GL hwin 2216 18000 3988,8
33691136 Luwnphnuwih pinppn 0,9% 1004 < hwiwn 215,6 19200 4139,5
33691136 Lwwnphnuh pinphn. 0,9% 5004 < hwwn 227,4 45000 10233,0
33691136 Lunphnuh pinphn, 0,9% 10004 9< | hwn | 2688 | 24000 | 64512
33691136 Luwnphnuwip pinphn. 0,9% 30004; < hwn 0 150 0,0
33691136 Lwwnphnuwh pinphn 0,9% 30004 9L hwiin 1500 45 67,5
33eerrag | Vwinnnudh piaph, l"“"‘;‘(;‘ét‘nm""h"’“”‘@h"‘dh PO | ac | hunm | 274 | 24000 | sa576
33601129 | wnhnuh pnphn, uwlhznggtl; pinnhn,bunghnuih pinphe [0 1 - 27.3 1200 272.8
1

33691135 Luwwnppnwh phljwppntiwn 8,4% 204 QL hwwn 0 800 0,0
33691136 Luwunphnuih phjwppnuwn 8,4% 204 9L hwin 1008 200 201,6
33691133 ULbipwpldwl onip 30004 q< hwwn 0 1400 0,0
33691133 Lbpwpldwl onip 30004; q< hwtn 1500 800 1200,0
33621330 ULhybpwdhn 25%- 20 <L hwwn 0 1500 0,0
33621330 LhYbpwdhn 25%- 20 9L huwn 178 280 49,8
33611390 Mhphnnpuhl h/p 5%- 14} < hwwn 0 15000 0,0
33611390 Mhphnnpuhl h/p 5%- 14 < hwwn 22,9 8000 183,2
33631350 Mhwbynipnuhinwdh ppndhn 4ug/24; < hwiwn 0 3000 0,0
33631350 Thuwynipnupnudh ppndhny 4dg/24; < hwin 1037,53 1500 1556,3
33631230 MNnyhnnl jnn, 10%-10004; Q< hun 2900 300 870,0
33661170 Mpnlwihts /unynluyht/ 0,5% 2504; < hwwn 504 120 60,5
33661181 Ulinynipusts 2500 3¢ | hwwn 37780 80 3022,4
33631360 Unipuwibntihnud 2% 5[ < | hwwn 189,9 2400 4558
33621730 Ybpwuwihy 0,25% 20, 9< hwwn 100 300 30,0
33621240 Shwllinpwwiht 500dyq 14; Q< hwuwn 0 3000 0,0
33621730 Shwiynpwwdhu 500ulq 14 Q< hwn 26,9 1800 48,4
33691236 Linpnwhpwihuh hhnpnpinphr 204q 14 QL hwwn 107,5 600 64,5
33611100 Oubwpwgn| 20dq. < hwwn 9,3 30000 279,0
33641100 Opuhungh |-fo SUUTAT T 9 | hum 177 4300 8496
33691191 bnudbnihwhnubip/tubtighwy/5u; L huwin 630 400 252,0
33691823 Snpdwnbhphn/indnyp < g 350 1200 420,0
33651245 Stdghnwphl 10004dq Q< hwwn 0 150 0,0
33651245 Stdghunwphts 1000dg < hwwn 9999,9 50 500,0
33651227 "uljwppwaght 200dq QL hwwn 0 100 0,0
33651227 THulwppuwght 200dg 9L hwin 6999,9 10 70,0
33651230 "ropunnniphghl 2dg/d) 250 Q< huwwn 0 200 0,0
33651230 “Topunnniphght 2dg/dj 254 < hwwn 7950 50 397.5




33651231 kninwnghn. 100dq/54; 9< hwin 0 200 0,0
33651231 buinwynghn 1004dg/54; Q< hwwn 3699,9 120 4440
33651243 Muwlyhunwputiy 100dg/16,7 di G< hwn 0 400 0,0
33651243 MNuwyhnwputiy 1000g/16,7 Uy < hwn 9000 200 1800,0
33691280 Shuwjwwnht 0,5 dg/dy 1004 9L hwwn 0 200 0,0
33691280 Shuyjwwnpt 0,5 dg/dj 1004 9< hwwn 7999,8 120 960,0
33651248 Opuwihyjjwwnhu 100dg < hwun 0 150 0,0
33651248 Opuwijhujjwinht 1000g, < huwn 7986.,6 50 399,33
33651241 Sbunpnipwighy 500dq 9L hwwn 0 150 0
33651241 $wnpnipuwghy 500dg 9L hwn 3799.8 110 417,978
33661131 Dbbunpupphuinwg nhin 100ug q< hwwn 0 102 0
33661131 DEunpwpphwnw| nhin 100dg L hwwn 20 100 2
33691176 Ughwpnihght opwipwl 200dq/54; 37,54 < hwwn 2400 30 72
33651163 Udhlywghti 5001q/24) 9L hwwn 0 100 0
33691176 Udhtnybl htipustin 1004 qc hwn 4080 40 163,2
Udopuhghiht/
33651111 R e Ul 1 600da < hwn 0 30 0
33651110 Uduhghiht: 0,5 9L hwun 215 1000 215
33651110 Uduhghihu 1,0 K hwuwn 255 1000 255
33651111 Udopuhghiht/piunjnywlwppent upy.1000dg+200dq. L hwwn 0 200 0
33651111 Udopuhghiht/pjuynywuwppent upy.1000dg+200dq < hwn 1200 100 120
33611350 UulnpphUwpspent, nnunngnhn A< hwn 9 1000 9
33691728 Ybisnt fubid, pubipngnpd 40q 9L hwwn 218 40 8,72
33631210 Phwnwdbpwgnt punip 1dg/g 15¢ 9L hwwn 0 20 0
33631210 Plunwitipwagnt punip 1dg/q 15 9<_ | hwwn 900 10 9
Pupuinpaughnuih ppndh, $eunntinng - 2Us.
33691176 361 Qe 500l 300 q< hustn 2700 100 270
33611472 Sihgbipn| dndhlibip niphnwnhpuwht 1q G& hwwn 112,9 2000 225,8
33611472 Shgbipn| dhypnhnguw 5u; L hwun 104 1500 156
33611472 Shgbipny dhypnhngqliw 104} q< hwn 119 250 29,75
33691138 Gyynilyng 5%-5000; 9L huwn 0 15000 0
33691138 Syniyng 5%-5000; 9< hwwn 247,8 6000 1486,8
33691208 %niljnqui (nbipuwpng) 100dq/d; 1004} q< hun 0 800 0
33691208 Sinlynqu (nbiputnpng) 100ig/dy 1004, 9L hwn 480 750 360
33691208 Syniynqu (nlipuinpng) 100dg/d) 5004; QL hwn 580 300 174
336724 | onenwdhht o a< | hum | m979 20 | 23,958
33631310 “Hhiyn$buwl bwwnphnuih dndhy 12,5dq 9L hwwn 112,9 500 56,45
33631310 "Hiin$buwy Lwinphnwh dndhl 25dq 9L hunn 12,9 500 56,45
33631310 Hiyin$buwy bwinphnd 10dg/q 50q nnunnn Q< hww 550 15 8,25
33691202 Eunwidghjuwn 250dq 9L hwn 38 800 30,4
33691141 fopywdhl pdoljuljwl 9L hwwn 0 7500 0
33691141 Beywdht pdoljulywl GL hwwn 3300 1500 4950
33631290 hpnwypnbit opwpwly 100dg/50; 1004} 9L hwn 700 250 175
33611310 hPlunyht Yuwpbunl wanbgnuyejuwdp-104) G< hwn 0 30 0
33611420 Lhnbhjwgyws Yunwuh wpbwppywiht dwupkubp 3L hwn 0 2000 0
33621100 Ywighnuih guntynuuwin 500q. 9L huwn 0 1000 0
33691176 Yjidwunh up.1dg/24; 9< hwn 0 600 0
33141166 Lhwywphu punip 25q QL hwwn 0 15 0
33621640 <hnpnynpinhgnli puniy 10dg/q 159 < huin 0 15 0
Pinpwdbbhlny, dbphinipwghy
33631200 punip 750 Odeja: 400 q< hwwn 0 300 0
33691112 Utinpnuhnwqny, pinphtipubnpts punip 1% 20,0 9L hwn 0 20 0
33691176 Uopuhdropuwight |- 1,6uq/1i},250 U} 8L hwwn 0 450 0
33691176 Opuhdtinwanihtup hhnpnpinphn 0,25dq/d; 104 < huwwn 0 40 0
33691136 Lwwnphmudh pinphn 1-p_10%) 504 9L hwn 530 720 381,6
33651149 Lhunwwnhu 500000 U4 < hwn 15,7 400 6,28
33661122 Muwpwghinwing opwpuwly 120dg/5d 1004; <L hwwn 399 20 7,98
33691176 Lungbuhphahls Yuphiubin Ulinghl punnilidu 9¢ | hun | 2650 5 13,25

5udq/u},204)




Mnihdhpuhu B , ubindhght , nbipuwdbpwgnt pph uupk)

33651145 15 < hwin 0 20 0
33631230 Mnyhnnt jnn_punip 10 % 20q QL hwwn 260 30 7,8
33671113 Uwipnunwdn| gnnwghp 1004lq/nnqus 201 9L hwwn 1460 300 438
33691500 Spwubpuwdwppent nhin 2500g 9L hwn 127 400 50,8
Stpninopuhd i upy
33651141 iniSnuph 750da. 100 < hun 0 500 0
33661122 Muwpwgbitnwdn| nhin 500d0q. 9< hwwn 6,5 5000 32,5
33661122 Mupwgbitnwing dndhlubp 150d0g L hwwn 50,9 130 6,617
33661122 Mwpwgbnwdng dndhlubp 80ug < hwin 42,4 80 3,392
33631150 Shuyh opuhn punip 100dg 25q 9< hwwn 227,85 8 1,8228
33651134 Shwpn$inpuwghti nhwin 500q 9L hwn 28,9 3000 86,7
33611120 Dwidnwnpnht |hnbhjwgywd tply |-ph 20dq, 54| inidhs qL hwwn 0 75 0
33611140 OUunwliubwnpnt 2dg/J| 44; K hwwn 235 1500 352,5
33691192 bbuwgnt, (hnnlwiht whwlgwlwph 5 < hwn 504 8 4,032
33651150 Dyniyntwgn) 50dg < huin 0 120 0
33651150 Sbyniyntiwgny 50dg Q< hwn 116,84 70 8,1788
33651134 Shujpniopuwight, ntipuwdbinnwgnt n/Yuuny 10 i <L hwwn 0 4 0
33651134 Shwpndiopuwghl, nbipuwdbnnwgnt n/ywhunyp 10 K hwwn 2016 2 4,032
33671129 Lhwpn$nipuy, mhmpwuwjgg, Pbtwgnt wlwlgh Ywph; Q< ki 0 g 0
|

33671129 | Uhnndninuy ”‘b‘""“"‘“”gzl' e LT AT (PR 315 8 2,52
33691226 Spwiwnn 100dq. 2d) < hwwn 200 500 100
33691226 Spwdwnn/nbpulbnnupnbbii 75uq/25d0q Q< hwwn 250 150 37,5
33661123 Sphdbuhpnhl 2%-10; Q< huwn 780 400 312
33621420 Unnpjwuwnwinht 40dq Q<L hwwn 80 6000 480
33671125 Udppnpun| ogwpuly 100 dg Q<L hwin 800 60 48
33671114 Udhtindhihti 2,4%-5 ) 9L hwun 48 10000 480
33621390 Udhnnwpnt 150dq 3u; 9< hwwn 650 1200 780
33651163 Udhywght 500dq/24 9L hwwn 2440 120 292,8
33691176 UwhYuwpwl nhin 5dg 9L hwwn 507 120 60,84
33621740 Udjnnhwht 101 9< | hwmn 10 6000 60
33651110 Udwhghht+unypwljnuwd 10000g/5000q < hwwn 3000 80 240
33661121 Ugbunhuwihghywppent 500ug < hwin 6 3000 18
33621761 Ugbnhuwihghjwpepent, dwqutighnuwh hhnpopuhn R hwwn 25 4500 112,5
33691153 Pwphnuih uny$uwn thnoh 100 q< hwwn 200 240 48
33691189 Phunwhhunht 24dq < hwn 120 2400 288
33691811 Phuwlnnhy dndhly 10dg L hwin 42,6 3000 127,8
33621720 Phunujpnin; Sdg < hwn 30 12000 360
33621360 Sihgbiph) Brhuhwnpwwn/ uhinpngihgtipht 1,50 X hwin 750 1600 1200
33661153 Mipuwdbpwant wluwlwpehy 1040 < hwwn 750 40 30
33621250 “Haputnpw 70 - 50000 L hwiwn 2400 60 144
33621250 “Hpunpwl 40 - 5000 L hwwn 2400 180 432
33631250 Epwun| pdoljuljwt 96% QL thip 1200 500 600
33621120 Fuopuwuwjwphl twwnphnut 4000UU 0,44 L hwiwn 2400 600 1440
33611180 Lwlwnyng 200 i < hwwn 2300 40 92
33661116 Lhnnywihtup hhnpnpinphn 2%-24; L hwwn 38 4000 152
33691192 LhnnYwyhti_hhnpnpinphn, bwhUb$pht 200 Q< hwin 900 150 135
33691203 Lnqupuwt nhwn 100dg. < hwin 52,5 560 294
33691213 Lhnbhjwgyuws Yhunwup Ywplwppquihu dwuptubp < hwn 131 2000 262
33691213 | Yhlnuwuh Ywptwppuwht pulnbphwubn / Guphtl 4< | humn 45 5000 225
33691176 Ywppbiwinghu 100dyg/d) 14; <L huin 22680 10 226,8
33621690 Hwpybnhing 25dq < huwwn 50 2800 140
33631300 YUbinnuypndlit 50dg/u) 24; 9L hwwn 180 1000 180
33691176 Y Gdwunp 106; YL huin 220 400 88
33621140 Uinwhnngnby 75ug q< huitn 250 12000 3000
33621643 Sttty uRhUt R WIS ac | jon | 3400 200 680

dhongqubin/Mwinwdht UP 50%




Cwlywubfuhg/wunhubupnhl/le whunwhwbhs Shengubin/

33621643 B g;m?‘w;‘ # lu‘?‘?{;‘ﬂ dlrl:°“qh & Q< {pup 7200 40 288
wljwi winnpubiywn wfunwhwhy
hsklial Uhonalln/ S unupuini, J0% hunulun 5000 ¥ | o | =0 @ e
Qwljuil WimnhuGujn, whuwnwhwlhs dhongubip/
33621643 N-N-nntighi-N-dsphi-wnih(opuhtrey) wiinuhnuih 9 | pup | 13500 60 810
wnpuyhnbuin, npntighy nhutiehy wdntpnuwh piphn,
—bbniblinibnh buduhn
Cwlwubtuhg/wunhubyinhly/l whunwhwihy dhengutip/

33621643 | wn|hhbpuwdbphibugnuutihnhtp hhnpnpinphn, NN-phu(3{  9< thvp 8000 80 640

wdhunupnuhy) nnntghjwdhl

Cuywubtuhg/wunhubynhly/l whunwhwipg
bl shonqlibn/ Matwunnipwiguusd bpwtin 1y W | e TR = 0
33621641 Qwlwubfuhy/wuwnhubiinhly/l whinwhwuhy dhongubn/ ac i 15 12000 180
£inph ndunn hwpbip

33621490 Ubphnnww 250dq <L hwwn 45 1500 67,5

Utinwdhqn|, bwnphnudwlwl
33661125 ununhhnpwn,whwnndtiinuh hhrnpnpinphn, < hwwn 270 200 54

Sdtiuwhdtnhuhnuwih pnndhn 24
33621190 UkuwnhnUp bwwnphnud phunybhin 1%-106; K hwwn 120 1200 144
33621700 Ubinnwpnn; 50dq L hwwn 18 3000 54
33651143 Ubpnububd 1000dq QL hwun 4500 100 450
33641200 Uhgnwpnuinng nhin 200ilg < hwwn 180 1200 216
33641210 Uhdbyphuwnin nhin 200dg Q< hwn 2756 60 165,36
33651139 Uopuhdiopuwghti 0,16% -2500; Q<L hwwn 1500 180 270
33691170 Snwpndhn 1004, QL hwin 16500 300 4950
33691154 Snhbipun| 504| L huwn 5500 2800 15400
33621750 LUhbtnhwht 10dg < huwin 31 5000 155
33691223 Lwnpnwwnhup Yuighmdwlwt wn 0,34 L huwin 2200 600 1320
33691223 Luwnpnyuwphuh Ywighnuwlwl wn 0,64 K huin 3500 2400 8400
33691144 Luwwnphnwh phnuny$wn 30%- 104; < hwn 55 4000 220
33691136 Luwwnphnuh pinphn 0,9% 30004 4L hwwn 1500 150 225
33661147 Lbinuinhqdhu 0,05%- 141 Q< hwwn 60 1000 60
33611150 Muwuypbwinple QL hun 32 5000 160,0
33661122 Muwpwgbitnwdng 1000 Q< hwwn 2500 160 400,0
33611470 Muwlnnuypwgn nhin 20dq 9L huwn 60 1400 84,0
33611471 Mubnnwpuwan| 40dg Q< huwn 1870 50 93,5
33621480 Mtphunnwphy nhwn 10dg < huwin 96 1500 144,0
33691186 Mhpwgbwnwdh 20%-50; Q< huwin 55 6000 330,0
33691176 Mpngbuwnbtipnt 200dq < hwwn 360 560 201,6
33642210 Mplinuhgnint 5dg. QL hwwn 8 5000 40,0
33661112 Mpnwndn| upy. 10dg/d) 204} 9L hwwn 700 3200 2240,0
33621777 MHhywpopuwpwl 15dg < hwin 750 1260 945,0
33621777 MHwpopuwpui 20udg 9< | hwn 825 1120 924,0
33691200 Ubunghnubp A,B nhun < hwn 22 8000 176,0
33621620 Uwhpnunuljunint 25dq 9L hwwn 50 10000 500,0
33661181 Ulin$yniput 2500 qc huin 55000 20 1100,0
33661154 Stinpwluyht 1% wltwlwphy 104 Q< hwwn 2900 60 174,0
33631380 Snyytiphgnu h/p 150dq q< hwun 80 1200 96,0
33691500 Spwubpuwdwpaant 200 Q< hwwn 2350 200 470,0
33691500 Spwubpuwdweent 500dg 9 hwwn 208 600 124,8
33691176 Shljwgpbiinp hin 90dg Q< hwwn 830 56 46.5
33651116 8tidwagnipt 1g 9L hwwn 250 14000 3500,0
33651123 8t$nunwpupd 1gq < hwin 400 8000 3200,0
33651141 8t$nipnpupd 750dq QL huwn 1200 1000 1200,0
33651118 Sh$uphwpunt 1g 9L hun 150 24000 3600,0
33651134 Shupniopuwght wljwlwph 0,3% 104 < hunn 700 40 28,0
33631241 Lnphbipuhnhuh uwhpunwiht e < {hup 1500 250 375,0
33631200 Linpudbtiuhlngdbphinipwghy puny 40q 9L hwwn 300 240 72,0
33651192 0&h wnihywun hwlwpnyl < hunn 120000 1 120,0




33611120 Dwdnunhnhti nhn 20dq Q< huwn 28 3000 224,0
33611120 bwinnhwnht 20dg 9< hwwn 980 350 343,0
33651150 Dyniynuwgn) 150dq < hwin 150 1000 150,0
33691176 bnipwghhup puniy 25q Q< hwwn 250 200 50,0
33691176 bnipughihup tingh 0,2 9< huwin 12 2000 24,0
33621230 Dnjwppent Sig G< hwn 4 4800 19,2
33661123 Sphubuhpnht 2%-1d] %< | hwn 780 150 17,0
33651163 Udhluighti 500uq/24) < hwwn 2440 120 292,8
33651110 Udwhghihti+unypwlnwd 1000dg/500dq L hwwn 3000 80 240,0
33651112 Udopuhghjht/plunywlwppent nthy 2500g/5d) 1004 S< hwwn 1060 30 31,8
33691176 Uwhpuwpwl nhin Sig L hwtn 507 120 60,8
33621390 Udhnnwnnt 200dq 9 hwtn 80 3000 240,0
33691153 Puphnuh unybwn thngh 100g i hwn 300 240 72,0
33671126 Ppndhbpuht 8dg < hwn 3 3000 9,0
33611472 Shgbpny dndhlubp 2.11g A< | huwn 138 800 110,4
33621360 Shgbiph| brhUpwpww/ Uhwnpngihgbpht 0,51q L hwwn 10 400 4,0
33691213 Lhndhwgywsé Ybunwlih Ywplwppduyht dwuptubp 9L huwwn 131 1600 209,6
33611200 Lnwbpuwdpn 2dg 9L hwwn 12 600 7,2
33661116 Lhnnywihub h/p gnnughp 5%-154) QL hwwn 1322 50 66,1
33661116 Lhnnughth hp punip 5%-15q 9< | hum 835 20 16,7
33651199 “Hwunwnnipwl nbd wwnjwunwiynip L hwwn 7000 50 350,0
33671135 Hwyghnudh pinphry 5d; 9L hwwn 86 400 34,4
33621643 Quwlwubfuhg/wlnhubiyunhl/l whunwhwuhy Shongubp/ q¢ - 7200 30 26,0
Lipdtlnwin wany _dhon
Cwhwlbfuhs/whnhubum wiunwhwuhy dhongUtin/
N,N-nhntight-N-dphi-wnih(opuhtyehy) winthnuih

33621643 wnpuhnbun, nhbghy nhubiph, winthnuh pnh, q< [y 13500 80 1080,0
33141166 <bwwpht punip 25g. 9< hwn 620 20 12,4
33621640 <hnpnlynpinhgnt puniy 10dg/q 15q 9< hwn 265 30 8,0
33651191 Lwlwpnuinyhuwiht shéinily inhy U < hwwn 2700 3 8,1
33651191 Swlwpnnnyhtwiht ohéniy inhy P < hwn 4800 3 14,4
33651191 Swlwpnuinnyhtwjht ohéinly inhy & < hwwn 5400 3 16,2
33621270 Ubipnih inényp dbph| handwibipwepynud Q< hwwn 18 200 3,6
33691112 Utwpnuhnwany, pinphbipuhnht nntignn 20, < hwwn 655 20 13,1
33631260 3nnh uy. midnype 304; < hwwn 430 100 43,0
33651128 Lhunpn$nipwtininh 50dqg K hwwn 5 1000 5,0
33691199 Upihdwipht 2250q. < hwn 24 800 19,2
33691176 Shywgptinp nhwn 90dg < hun 830 56 46,5
33651321 Stbonwpuhd/unypwlnwd 10004dg/5004q < hunn 3000 60 180,0
33651141 8b$nipnpuhd 7504dg G< hun 1320 500 660,0
33631491 8bwnhphght 104dg L hwwn 71 600 42,6
33691176 Shyjnwhbunnjuwn whtwlweh| 1%-50; RIS huin 3180 25 79,5
33671116 Lupndtvwgnih gnnuighe peh 10d; hunn 1500 30 45,0
33691176 Opuhdtinnwgnihtuh h/p peh Ywehy 0,5dg/d) 104 < hwwn 680 40 27,2
33651192 0dh wnihyw|tuwn hwlwpnyu < huwin 120000 1 120,0
33621590 Sniypnubidhn 40dq < hwun 4 2000 8,0
33621590 Snynubidhn 1% 24; 9< hunn 29,4 32000 940,8
33691176 Dhuwgnt, (hnnbuwiht 150 < huwin 1100 30 33,0
33691200 Ukunghnutip uu hwun 20 2000 40,0
33671113 Uwpnunwidng gnnughp uu hwn 2250 6 13,5
24111190 Udfuwppnt qug Uu hwn 5500 50 275,0
33651143 Ubipnwbutd 1000dg uu hwin 4900 10 49,0
33651126 Sbunwdhghu 24| uu hwwn 67 600 40,2
33671113 Uwipnunwdng gnnwighp uu hwn 804 60 48,2
33691800 Plwghgnuiwp 100dg Uu hwn 100000 1 100,0
33661112 Tpnwn$n| 10dq/d) 204] UU_ | hwn 465 215 100,0
33611280 HhYywghn MR nhin 60dq uu hwwn 96,2 300 28,9
33691176 hunndbunwght dndply uu hwiwn 97 360 34,9




33621600 Punwwwihn nhwn 1.50q uu hwwn 18,833 1800 33,9
33621100 Ywighnuwh qynintiun 5004 uu hwwn 22 500 11,0
33141165 Ujpnuwiht: 20% 1004; Uu hwin 4 25000 100,0
33621590 Dnipnubidhn 1% 24 uu hwwn 29,4 3400 100,0
Cunuwiky, 216474,1
RITUULUL UUrLUYNPNRULEE bd MULrUSULER
33181110 <tdnnhwihgh uwpp Lus hwn 7000000 2 14000,0
33181140 Lbdnnhwihgh oph Jwppuwl Yujwl <uu hwn | 42500000 1 42500,0
33111100 (3Ywjhtu nbtiingbli uwpp Q< hwin 9300000 1 9300,0
42931111 Lnnwgnn ghtinphpnig G< hww 580000 1 580,0
33141136 Uhuinnpnghs Ywpbinp S hwn 0 200 0,0
33141136 Uuinnpnohs wpbitnp q< hwwn 6200 60 372,0
33141136 Ufuwinnpnahs Guptivp L hwwn 8100 900 7290,0
33141136 Ufuinnpnohs Yuptinputiph hwywpwdnt K< hwin 0 700 0,0
33141136 Utunnpnahs Yupbiplbiph huywpwdnt < hwin 12400 400 4960,0
33141184 Ulunnpnohs mnanpnhs hhnpnhy -0,018 j QL hwwn 16000 40 640,0
33141136 Uuwhpwghnl Ywpbinp QL hwin 0 10 0,0
33141136 Uuwhpughnt Ywptnp < hunn 105000 3 315,0
33141136 Uuwhpwghn wplnp Q< huwwn 95000 3 285,0
33141137 Pwinwht Ywpbinbp pwpép Gouwl 1 < hwwn 32800 200 6560,0
33141137 Puntiwht wpbinbp pwpdp Gpuwl 2 G hwn 31000 300 9300,0
33141137 Puintiwjhts Ywpbinp 1 L hwin 32800 220 7216,0
33141137 Pwintwht jupbunp 2 < hwwn 0 300 0,0
33141137 Pwinwht Ywplinp 2 < huwin 31000 200 6200,0
33141137 Puwnuuht Ywpbup 3 9L hwwn 0 50 0,0
33141137 Pwinuwiht jwpbup OTW QL hwwn 0 5 0,0
33141179 Pdaljwlul hwywpwdniibip wughngpuwbhwih hwdwp Q< hwn 19800 1200 23760,0
33141180 Pyl hwywpwdniibip wlghngpuwbhuwh hwdwp uu hwwn 19800 120 2376,0
33141136 Stwyn Yuipbinp 1 9L hwwn 17800 600 10680,0
33141136 Swyn wpbinp 2 < hwwn 0 70 0,0
33141211 Ghé 60ud <L huwin 0 150 0,0
33141211 “hwunwlh Sugnn Gy < hwn 0 50 0,0
33111310 Hinwwwwn unbtin 1 < hwwn 89000 260 23140,0
33111310 "Hinwwwwn unbin 2 L hwwn 0 260 0,0
33111310 "Hinwwwin unbln 2 Q< huwin 95000 160 15200,0
33111310 Hinwwwwn uinbun 3 < huin 0 60 0,0
33111310 Hinwwww unbun 3 Q< hwin 79000 30 2370,0
33111310 "Hinwwwwn unbin 4 < hwn 0 30 0,0
33141211 Eislpnn. nhpdwdwn dwiwbwlwynp uwppbiph < hwwn 0 2 0,0
33141211 Prbubywnnp 20/30wnwsliwhl thwpbpe Ynwhinunny < hwn 10000 400 4000,0
33141211 Pnbudywinnp thwpbp 20 Buy G hwn 6000 50 300,0
33141211 hnbubywwnnp thwpbp Ynwhinnng s hwwn 10000 100 1000,0
33141136 Punpwnynwbn Gwéwbiswihu X hun 10900 1500 16350,0
33141136 huwnpwrynibn $ldnpuw) 10ud < hwwn 10900 250 2725,0
33141184 “npnuwn ninpnpnhs 0,6-0,7q Q< hunn 0 80 0,0
33141184 Ynpnlwp ningnpnhs 0,6-0,7q Q< hwwn 35000 40 1400,0
33141184 Ynpnuwp Juibp 0,4-0,5q < huwn 0 120 0,0
33141184 Ynpnuwn Juybp CTO < hwwn 0 10 0,0
33141184 Ynpnlwp wjtip CTO | q< hwun 0 5 0,0
33141184 Ynpnliwp Juybip CTO 2 G< hwwn 0 5 0,0
33141184 Ynpnuwp Jwibip hhnpndhy < hwwn 33000 500 16500,0
33141136 Uhypnjwpbnn Ynpatwp wunph < hwin 0 5 0,0
33141136 Nunnpnhs Guptinp < huin 0 50 0,0
33141136 Nunnpnhs Yupbinp L huwin 21000 20 420,0
33181170 Upjut hnupuwjht ghd < hwwn 1490 11500 17135,0
33181150 <hduwjht funwljnyeh pwpephe AL hwin 1350 11500 15525,0
33181120 “thwihquwnp 9L hwtn 3600 1200 4320,0
33181120 “huwhquwnp < hwin 2750 4000 11000,0
33181120 "Hhuwihquinnp Q< hun 3000 1440 4320,0




33181120 "Hhwihquinnp QL hwwn 3400 4000 13600,0
33181160 @pYuht funwujnye 9< hwin 3250 2500 8125,0
33181160 “hunpnbwpepyh nwlynge 9L huwin 10000 160 1600,0
33141149 Sbhunnywih wubnubip qupybpwlwiht < hwwn 195 9000 1755,0
33141149 Dhunnyuht wubinubp bpwluht 9L hwin 195 9000 1755,0
33141149 Dhuwnnywht wubnubp qunplbpuywht < hwn 196 2500 490,0
33141149 Dbhunnywihl wubnttip bpwluiht < hwin 196 2500 490,0
33181120 Shynp htidnnhwihgh uwpph 9< hwin 75000 15 1125,0
33141136 Ywpbinbp htidnnhwihgh 9L hwn 8200 50 410,0
0,
S92 ] Upwtnutph wnwsuwnb wpabupwlon huppat, | %< | hun 2 9 2
41192 5 10,
3 Wpwlynubiph wowgunibphl wpgbiwihulyen huppwy | %< | hwn | 102000 4
33141192 Ubpuwlh ywppwynp hwppwy Q< hwin 0 6 0,0
33141192 Uupwlh Yuppwynp huppul < hwin 102000 3 306,0
33141192 Pwgniynuliph dnunwljw wngbijwhwlynn hwppuwl QL huin 0 25 0,0
33141192 Pugniynuliph dninwlw wnqbjuhwlynn hwppwy q< hwwn 132000 13 1716,0
33141192 Pugniynuliph nphtug dhju < hwwn 0 10 0,0
33141192 Undniuybiniih wpgbijwthwlynn hwppuwl < hwin 0 4 0,0
33141192 Updnilbimuh wpgbwihwldnn hwppwl < hwwn 102000 2 204,0
33141192 Bwbdwusnuliph hbinwlw thnthnfuwljwl wuljwdp Q¢ bl 0 15 0.0
wngbjwihwldnn hwpewy
3314192 Buubignulinh hnwlyu thnhnfuuly WUyulp 9< | hwn | 102000 8 816,0
wnghjwihwldnn hwppw
33141192 Ugnpnulph <0 hwpzt:ti::nwnjlul Yaunpnuwlwu a¢ _— 0 10 0.0
334ngy | HaAnulinh U huippwl Upunyn GEbnbwlu | hun | 162000 5 810,0
wnnunwlyp
33141192 Ugnnulpp U hwppwlh Undwpbuhnt wunnunwly < hwwn 0 10 0,0
33141192 Ugnnulph YU hwppulh Yndwpbupnt wunnunwl QL hwwn 3000 5 15,0
33141192 | Ugnpnulyph hbnwlw npuwjht wnghijwhwiynn hwppuwl QL huwn 0 6 0,0
33141192 | Ugnpnulyph hbnwljw npuwjht wnqbputhwlynn hwppul < hwwn 162000 3 486,0
33141192 | Ub& ninph dnunwljw nnuwht wpgiuhwlynn hwppul < hwin 0 10 0,0
33141192 | Ut njnph dnunwljw nuwiht wpgbuhwlynn hwppul < hwwn 132000 5 660,0
33141192 | Utid nnph dninuljw Ubpuwht wpgbywthwlnn hwppwy [ 9< hwwn 0 10 0,0
33141192 | Utié ninph dninwlyw Ubpuwht wpgbwhwiynn hwppwy [ 9< hwwn 132000 5 660,0
33141192 | Ubd ninph hbnwluw dhowht wpqbjwihwlyyng hwppwy < hwin 0 10 0,0
33141192 Ubd ninph htinwlyw dhowhts wpqbpuhwyynn hwppuly Q< hwin 132000 5 660,0
33141192 | Lppninph hbnwlyw Ynnutwht wpgbunhwlynn huppul [ 9< hwn 0 20 0,0
33141192 | Uppninph htinwlw Ynnutiught wpgbputhwlynn hwppwy | 9< hwwn 102000 10 1020,0
33141192 Pnpp wpqbwthwldng Yndwpbiupnt hwppwl 3,5 dd ac i 0 10 0.0
nnunwbubinh hwiw
33t4ngy | Pner wnqbuthuldn Gndynbuhnl hupul 3508 | o, — 102000 5 510,0
wnnunwliubnh hwidw
33141192 Lbn wpqbwihwlnn Ynduypbupnt hwppwy 4,5ud a¢ el 0 10 0.0
wununwlibiph hwdw,
33umoy | VB0 wngbwihwling Yndwnbuhnt huppul 4,500 a< | hun | 132000 5 660,0
wunnunwlhubiph hwdwp
33141192 Ugnpnuliph Ywpé wnnpuhdw dbhu Yuthwphsng QL hwwn 0 60 0,0
33141192 Ugnpnuliph Ywiné wpnpuhdwy dbju Ywihwphsny 9L hwwn 162000 30 4860,0
33141192 Ugnpnulynh bplwip wpnpupduw dbpu Ywthwphgny < hwn 0 30 0,0
33141192 Ugnpnulph bpluwp wpnpupdw) dhfu Ywthwphsny Q< hwwn 162000 15 2430,0
33141192 Ugnnulph wpnpuhduy dbtuh 6,404 wunnunuly L hwwn 0 90 0,0




33141192 Ugnnulynh wpnpuhdwy dbfup 6,400 wnnunwl < hwn 3000 45 135,0
33141192 Ugnnuliph wpnpuhdw dbiup 8,004 wununwly qL hwtn 0 90 0,0
33141192 Ugnnuliph wpnpupdwy dbfup 8,004 wununwy QL hwin 3000 45 135,0
33141192 Ut ninph jnphtg dbju Q< hunn 0 15 0,0
33141192 Ut ninph |nphuq. dbfu 9L hwin 162000 8 1296,0
33141192 3,9 dd |nphuq wnnunwl dbtup hwidup 9L hwn 0 20 0,0
33141192 3,9 dd nphug wwnnunwl dbfuh hwdwp < hwwn 3000 10 30,0
33141192 Ugnnulnh wpnpuhdwy difup 4,940 jnphtiq wunnunwl QL hwuwn 0 120 0,0
33141192 Ugnnubph wpnpuhduy dbjuh 4,904 jnphtiq wnnunwl 9L hwuwn 3000 60 180,0
33141192 2,444 wpgbjwihwlnn wnnunwly < hwtn 0 50 0,0
33141192 2,444 wpgbjwthwlnn wnnunwly 9L hwwn 3000 25 75,0
33141192 2,704 wunnunwl < hwwn 3000 25 75,0
33141192 3,504 wpqbywthwlnn uwnughng wnnuiwl < hwin 0 150 0,0
33141192 3,544 wpgbijwhwlnn uyntighng wnnunwl < hwwn 3000 10 330,0
33141192 3,50d wpgbiwhwlnn Ynpunhlyw wnnunwly < hwn 0 100 0,0
33141192 3,504 wpgbywihwynn Ynpinhlwy winnunwl K hwin 3000 50 150,0
33141192 3,500 hnpunhlywy wynnunwl hupbwpialidng < huwitn 0 150 0,0
33141192 3,504 Ynpunplu winnunwy huptwpwlynn < hwn 3000 80 240,0
33141192 4,004 uynughng wwinunwy < hwwn 0 20 0,0
33141192 4,00d uynughng wwnnunwl L hwn 3000 10 30,0
33141192 4,004 Yuunywgywsd uynuighng wunnunwly Q< huin 3000 40 120,0
33141192 4,504 Ynpinhlywy wuinunwl htiptwpwldnn QL hwwn 0 80 0,0
33141192 4,500 Ynpunhlyw wyiinunwly huptiwpwlynn Q< hwtn 3000 40 120,0
33141192 5,004 wpgbjuthwyynn uwntighng wununwl Q< hwwn 0 100 0,0
33141192 5,00 wpgbwihwlynn uyntighng wunnunwly QL hwwn 3000 50 150,0
33141192 5,0ud wpgbjuthwlnng Ynpwhlw| wununwly L hwwn 0 50 0,0
33141192 5,004 wpgbjwithwlnn Ynpinhlug wnnunwl 9L hwn 3000 25 75,0
33141192 7,0uddd Yndyypbiupnt wnnunwly 9L hwwn 0 50 0,0
33141192 ®npp Yndwpbuhnu hwppwl 3,5 dd wnnunwlubpp ac . 0 10 0.0
hwdwnp
3314119y | nen Undwnbuhnt h"‘h"r"’;’“f’s U wpnnanwleph | o | pun | 102000 5 510,0
w
33141192 Lbn Yndwypbuhnu hwppwl 4,500 winnunwlutiph ac bii 0 10 0.0
hwdwn
ssungy | M0 lindupbunelshuppud; 4. 50] apnnunalierh 9< | hun | 132000 5 660,0
hwdwp
33141192 Ukl tppnpn. mmpmuwn:wl?pwq 3,5 0d wwnunwlubph Q¢ — 0 10 0.0
wdwn
33141192 [ UBU Brnnpn nnipniun :“‘g"’“’” Sovtummionltinh| e | wn: | toz000 5 510,0
wiwn
33141192 Luyu Yndwpbupnt hwppwl 4,5 00 wwnnunwlubph ac i 0 10 0.0
hwdwn
33141192 Luts hnthuypbupnl huppiwl 4,5 G0 wanumulbph 9< | hun | 162000 5 810,0
hwdwn
33141192 MHaynuuwinpniyghnt hwhma:;Juljn&S dd wnunwlbph ac b 0 10 0.0
[T}
3314192 | MUnbuupndghn h“’h""’:‘” SioNd ugshnariiabnp ac | hwn | 102000 5 510,0
widwip
33141192 Tynin 1,5 dd 30ud 9L hwin 1500 200 300,0
33141192 Cynin 2,0 4t 30ud QL hwwn 1500 200 300,0
33141192 Gynin 2,5 Jd 30ud Q<L hun 1500 200 300,0
33731121 Ubipwitiuwght nuuyul < | hwwn 37000 250 9250,0
33731120 Lbpwliuuyht hgpwinpyws thwthniy nuwujwy < hwin 0 250 0,0
33731120 Lbpwliwht ihgpudnpyws tuthniy nuwbjwly QL hwwn 50000 200 10000,0
33731120 Lbipwltwht thwihiny hhnpngnp nuwujwly Q< hwwn 43000 50 2450,0
33731120 Untnpnihl Swindyh hhnpndh| ng thwyiniu nuwtyuwly < hwin 50000 50 2500,0
33141212 dhyntinyuhbhlwghwih hwwpuwdne < hwwn 60000 102 6120,0
33141155 Tl UGuwpnidwlwt-Yhpwinnd < hwin 0 250 0,0
33141156 THwbwl Ubwpnidwlwu-Yapwnnd < hwwn 4700 150 705,0
33141155 Tl whiwpnidwlwl < | hwwn 0 252 0,0
33141156 bl whwpnidwlw < hwn 5500 180 990,0




33141212 UYtwyhpwhwinwluwt bbply < hwn 0 50 0,0
33141212 Uytwyhpuhwnwlywt tbply < hwwn 11000 40 440,0
33141212 Uhtwyhpwhwwnwlwt ubpy GL hwwn 3000 70 210,0
33141211 Nuytjubh Ywwuniywp on 12.30/10.00u4 Q< huwin 0 25 0,0
33141211 Nuyjubh Ywwunywn on 14.30/12.00048 qC hww 6500 25 162,5
33141211 Nuwtywlh Guunyywn on 15.30/13.0046d 9< hwtn 0 25 0,0
33141211 Nuwtywlyh Ywwunywp on 15.30/13.0000 q< hwn 6500 20 130,0
33191620 Uhuwyhpwpnidwlwl dhp. unbiphy Swsling uwybinutp L hwwn 1200 700 840,0
33141211 Uhuwpnidwluw puppphy 9< [ humn 0 200 0,0
33141211 Ubtwpnidwlwt puppphy 9| humn 4200 150 630,0
33731141 Unnbiph) Ubipwluwiht (nidnyp 5004 Q<L hwwn 6400 210 1344,0
33731140 hanunntihly,unbiphy,wuwhpngbli indnyp 9L hwwn 2500 400 1000,0
33141211 Utiphigtiynynquihts Yhulinbjuunply /qby/ < hwwn 0 250 0,0
33141212 Utiphigbynynquiht dhuljnbjwuwnhly /qby 9< hwtn 6200 200 1240,0
33141204 Yhuntynndhwih hwiwp bwiwtbous qnun ac _— 0 12 0.0
hwlwpwdnt
33111225 ‘”"""“‘”‘""h““hh':u‘“‘L’u“":;:‘["‘“‘“b”‘l‘“e’ qniny a< | hun | 110000 6 660,0
33141184 Ywbp 0,35 9< hunn 0 150 0,0
33141184 dwbn 0,35 9L hwwn 19500 40 780,0
33141184 dwbip nhwgqununhy 0,35 9< hwwn 11000 50 550,0
33141184 Lbypnwbp 0,014 q< hwwn 0 50 0,0
33141184 Lbjpndwtp 0,014 9< hwn 100000 18 1800,0
33141184 Llipnydhypndwbn 0,014 K hwwn 0 50 0,0
33141184 Lbjpnydhypnduwbp 0,014 < huin 100000 15 1500,0
33141184 Sun ohp < hwwn 0 50 0,0
33141184 Swyn ohpe 9< hwn 78000 10 780,0
33141136 Minnnpnhs Ywpbinbip Q< hwwn 0 100 0,0
33141136 NMipnnpnhs Ywpebnbp < hwun 55000 20 1100,0
33141136 Uuwhpwghnt Guptintip/ubipnhudwahy 9L hwin 0 50 0,0
33141136 Uuwhpwghnl Ywpbunbp/ubpnhtdwghy < huin 480000 5 2400,0
33141136 | Uuwhpwghnl Yuptnbp/wbnh$tphl hwuwbihnipudp < hwwn 0 50 0,0
33141136 Uhypnywpebinbp < huwn 0 20 0,0
33141136 Lbpndhypnljwpebnbp L hwn 0 50 0.0
33111310 Uwnbuw/nbinphytp < hwwn 0 50 0,0
33111310 Unbuw/ntanphybp < hwtn 462800 25 11570,0
33111310 Lbjpnunbwn 9L hwwn 0 20 0,0
33111310 Lbpnunbiun <L huin 890000 13 11570,0
33191510 Pnfutiipwpwldwl hwdljwpg/pupdp Susiwl G< huwin 0 200 0,0
33141211 Gnninh thwluwting < hwn 0 200 0,0
33191620 Uwnbiphy uwduwts &< hwn 180 150 27,0
33141142 Lbipwplhys thwljwuny < hwwn 0 50 0,0
33141211 hu$nighnt funnnijuly 9L hwwn 0 100 0.0
3314136 Huwqunuinhly Ywpbinbp 9< hwn 0 100 0,0
33141136 hwgununhly Ywphnbp q< hwn 17000 30 510,0
33141136 THhwglnunhly bgpn Ywpbntip <L hwwn 0 50 0,0
33141137 “thwqunuwnhl Ubjpn Ywpebnbip K hwwn 25000 20 500,0
33141211 Ynublnnp Ywal < hwin 0 200 0,0
33141211 Ynubiljiinp Ywél Q< huin 18000 20 360,0
33141136 Uhlpnlwpbiptp < hwin 0 30 0,0
33141136 Uhypnljwptiptp < huin 230000 20 4600,0
33111310 Uk 9< hwn 0 15 0,0
3314121 fepniphg wwaunwyuwting gnpdhp 9< hwn 0 15 0,0
33141136 Uuwhpwghnt wpbnbp G< hwwn 0 40 0,0
33141136 Uuwhpwghnt Yupbinkp q< hwwn 395000 30 11850,0
33111310 Unbiin/nbnphytip < hwwn 0 20 0,0
33141211 Uuyhpwghnt Ywpbnbip thnpp nhwdbupny Q< hwwn 0 20 0,0
33141211 Uuwhpwghnt Yupbunbp thnpp nhwibnpny L hwwn 230000 1 230,0




33141136 Uhypnywpbnbp 9< hwwn 0 20 0,0
33141184 Lbypndhlpnduytip 4< hwn 0 30 0,0
33141136 Ywpbinbp phetinupy G< hwn 20 5000 100,0
33141136 Ywplinbp Ubpbpwlwihu 246G < hwn 45,9 20000 918,0
33141136 “Ywpbnbp Lbpbpwlwih 226 9L hwuwn 37 10000 370,0
33141136 Ywplinbip ubpbipwlyuhu 206 < hwwn 37 10000 370,0
33111230 Ugunndunn pudwlwynphsh wjpuwljwiubp 10-2004l; < hwwn 0,552 80000 44,2
3311240 | Uduindwin pwdwtiwynphsh Swipwlwtbn 100-10004dY; L hwtn 1,548 40000 61,9
33141115 Pdajwlwl pwdpwy ng huluwbbfugws 100q utipdsynn < hwin 148 4000 592,0
33141116 Pdalwlwl putigh$ /dwpyw/ < hwwn 62,97 60000 3778,2
33141178 "tinbiph ubpwpldwt hwdwywpgbn QL hwwn 0 100000 0,0
33141179 “tinbiph Upwplydwy hwdwlwpgbp QL hwn 35 50000 1750,0
331411 Huwsnils uwtinwiih 5*500 Yinnphg < hwwn 199 8000 1592,0
33141111 Yuwysntts uyjlinwh 2,5*500 Yunphg Q< hwn 82 5000 410,0
33141156 Qbintinglitip pdolwlui ng unbiphy Q< hwwn 0 200000 0,0
33141157 Qbinunglbin pdolwlwl ng unbiphy < hwwn 10 100000 1000,0
33141100 [ Ubwuqudjw ogunwgnpdiwli phiup-tiphg qyniyndtinph 9< hwwn 0 5000 0,0
33141100 | Utiwuqudjw ogunugnpdiwb phup-tiphq gyniyndbinph Q< hwun 90 4000 360,0
33141173 Uhqpunntuhs < hwin 97,5 5000 487,5
33141142 Lbpwplhsubp 1,0 QL hwwn 9,7 80000 776,0
33141142 ULbipwplhsubp 2,0 < hwwn 0 100000 0,0
33141143 Lbpwplhsubn 2,0 QL hwwn 9,69 50000 484,5
33141142 Lbpwplhsubp 5,0 9L hwiin 9,9 160000 1584,0
33141142 Lbipwplyhsubip 10,0 Q< hwwn 0 140000 0,0
33141143 Lbipwplhsubin 10,0 < hwin 14,5 70000 1015,0
33141142 Lbipwplhsutin 10,0 lock Q< hwn 24,5 5000 122,5
33141157 Lownwpubip W uwpbp < hwwn 18 5000 90,0
33161220 Cwwnbif thuyinks Q<L hwwn 4 60000 240,0
33141211 hd EpYupwgnighs 150ud Q< hwun 260 5000 1300,0
33141110 dhpwlwwbin 7*14 ng hwlwbbuws Q< hwwn 80 10000 800,0
33141110 Yppwlwwbip 10%16 ng hwlwttiudws < hwwn 136 8000 1088,0
33141110 Uhpwhwybip 5410 ng hwlwubiujws K hwwn 45 6000 270,0
33191310 | Pnwlnpln ‘“‘""‘L"“'"‘:w‘:zr‘:‘“ ptinhwling pUUneil | o | n | 167 | 48000 | soie
33191310 Pnpéwinpbp uwhnwwipt dhywiht L hwwn 24,8 36000 892,8
33191310 Pnpéwunpubn Na ghunpun < hwwn 16,7 12000 200,4
33141144 Nnunubinwiht wubin ninnnpnhsny < hwwn 170 2000 340,0
33141158 Yhpwpnidwlwl bnungubp N7 Q<L hwin 90 6000 540,0
33141158 Yhpwpnidwlwl Skintingbin N7,5 A hwwn 88 8000 704,0
33141158 Yhpwpnidwljwl dkntingutin N8 < hwin 88 7500 660,0
33141158 Yhpwpnidwlwl dbnungubkp N8,5 L hwwn 88 3000 264,0
33141121 Uhpwpnidwljwl phijp Lt 1 9L hwwn 200 180 36,0
33141121 Yhpwpnidwlwl phibp Lhynt 0 9L hwin 200 180 36,0
33141121 “Yhpwpnidwlwu phibp Liynu 2/0 9L hwwn 200 240 48,0
33141121 Yhpwpnidwlw phibp Lhynt 3/0 QL huwwn 200 240 48,0
33141121 Yppwpmidwlwl phitp Lhynu 10/0 Q< hwwn 0 24 0,0
33141121 Yhpwpnidwlwl phibp Yhngnun 0 AL hwuwn 0 600 0,0
33141121 Yhpwpnidwlwl phitp Yewngnun 2/0 < hwn 280 900 252,0
33141121 Yhpwpnidwlwl phibp Yhngnun 3/0 QL hwuwn 280 900 252,0
33141121 dhpwpnidwlwl phibp Ybwgnun 4/0 QL hwin 280 480 134,4
33141121 Yhpwpnidwlwl phiip Mnhwpnwhit 0 9< hwwn 169 600 101,4
33141121 Yhpwpnidwlwl phibip Mnfhwpnughbt 1 L hwuwn 180 600 108,0
33141121 Yhpwpnidwlwu phibp Mnjhypnuhbt 2/0 9L hwwn 169 600 101,4
33141121 Yhpwpnidwlwl phijtp Mnjhuypnwhibu 3/0 q< hwn 180 720 129,6
33141121 Yhpwpnidwlwu phitp Mnjhupnuhibu 4/0 9L hwwn 180 480 86,4
33141121 Yhpwpnidwliw phitip Mnhgquluht 0 9L huwitn 309 900 278.1




33141121 Unhpwpnidwlwl pliip Mnjhguulnht 1 9L hwn 315 960 302,4
33141121 Uhpwpnidwlwt phibp Mnjhquulinpt 2/0 < hwwn 306 600 183,6
33141121 Uppwpnidwlwl phijp Mnjhgwlwhl 3/0 G< hwun 309 600 1854
33141121 Uhpwpnidwlwl phibp Mnjhgiulnht 4/0 G hwn 330 240 79,2
33141143 Unungti| 250,0 9L hwn 168 500 84,0
33141143 Unungly 1; < hwin 680 240 163,2
33141183 Ybpwlpdwl gnun 66,86 < huwin 44 600 26,4
33141211 Shuwwnyhsh sbipdwiht pninp Q< hwin 2425 80 194,0
33141211 Unwplwjwlwt wuwwlh ohd nuwigunny G< huin 6,84 18000 123,1
33141211 Bwdljwwywlh 9L hwwn 1,86 18000 33,5
33141228 Punhlywinnp onuwht uintiphjhquignidng N1000 < hwuwn 6900 12 82,8
33141228 hunhbwwnp gninpohny uinbiphihquigniiny i hwwn 4800 6 28,8
33141201 Puwuhitibp A< | humn 0 60000 0,0
33141202 Puwfuhjubip < hwwn 2,8 20000 56,0
33711490 Muwhwwlwlubp < hwwn 0 12000 0,0
32351230 Mgkl dwyunlbu 30740 9L huwwn 0 4000 0,0
32351230 MHiungbt dwuywitl 30740 9L huwin 3233 1000 3233
33141136 | Uuwhpwghnt Yupbwnbp/wbph$tiphy hwuwubhnyejuip Q< hwin 0 50 0,0
33141136 | Uuwhpwghnt Juwpbwtp/wbph$bphy hwuwubihnipuip 9< hwtn 405000 6 2430,0
33141136 Uhypnywpbunbp < hwin 0 20 0,0
33141136 Ltjpndplpnlwptinbp 9L hwn 0 50 0,0
33141136 Lbpndhlnnlwpbintip < huwin 189000 12 2268,0
33141184 Lbpndhlpnyguytp Q< huwin 0 30 0,0
33141184 ULbypndhlypnyuwybp L hwwn 124900 3 374,7
33141137 Pwntiwht yuptinp 3 < hwn 0 50 0,0
33141137 Pwinuwihl Ywpbinp OTW < hwwn 0 5 0,0
33141136 Swyn Ywpbnp 2 < hwwn 0 70 0,0
33141211 “huunwlh §uynn Yy L hwwn 0 50 0,0
33141211 “twunwbh 6uonn Guiy 4L hwwn 3900 50 195,0
33111310 "Hinwuwwwn unbiin 4 9< hwwn 0 30 0,0
33141211 Hynnn nhpdwywp dwiwuwluwdnp uwppliph q< hunn 0 2 0,0
33141184 “npntwp Juybin 0,4-0,5q < hww 0 120 0,0
33141184 Ynpntwp Juytp 0,4-0,5q < hwn 26000 50 1300,0
33141184 Ynpnuwp Ywjbip CTO < hwwn 0 10 0,0
33141184 Ynpnliwp Jujbp CTO < huwin 40000 2 80,0
33141184 Ynpntwp Jujbp CTO 1 Q< hwin 0 5 0,0
33141184 Ynpnuwp Ywjbip CTO 1 < hwun 55000 2 110,0
33141184 “npnuwn Ywykp CTO 2 < hwn 0 5 0,0
33141184 Ynpntwp Yuybip CTO 2 q< hwn 58000 2 116,0
33141136 Uhypnywpbinp Ynpnliwp wlnph < hwwn 0 5 0,0
33141137 Puyntiwh Ywpebinp gudpupndhy < hwn 0 60 0,0
33141137 Puintwh upbunp guwdpypndhy < hwn 32000 30 960,0
33141137 Pwinuwjht wpkunp gwdnuypnhy NC L hwwn 0 100 0.0
33141137 Puntiwghl upbinp gudpupndhy NC < hwtn 32000 50 1600,0
33141137 Puinbwiht Yuwpbunp gudpupnphy OTW Q< hwwn 0 10 0,0
33141137 Puinbwiht Ywpbinp gwdpwpndhy OTW < hwn 32000 5 160,0
33141208 htnpwynuubp $bdnpwy (Ywps) Q< hwn 0 4 0,0
33141208 hunpurynubp $bdnpuy (Yuips) 9L hwwn 10000 2 20,0
33141208 Punpwinnwbip $adnpwy (Epluwn) A hwwn 0 s 0,0
33141208 huinpwnnutip $adnpuy (plun) < hwn 50000 2 100,0
33111310 Unbuwn whph$liphly Q< hwiwn 0 20 0,0
33111310 Unbun wbph$tiphy L hwiin 250000 10 2500,0
33141137 hiwwnwghnt Ywpbintp whph$bphly < hwwn 0 50 0,0
33141137 “Hiwwnwghnt Ywpbnkn whiphdliphy QL huwin 50000 25 1250,0
33111310 Minnnpnhs jwp Q< hunn 0 20 0,0
33111310 Minnnpnhs jwp < hwn 9000 10 90,0
33111310 Ninnnpnhs jwp < hwwn 0 4 0,0




33111310 Nunnprihs (wip Q< hwn 29000 2 58,0
33111310 Nnnnpnhs jwp 8L hwwn 0 2 0,0
33111310 Nunprhs \wp < hwwn 47000 1 47,0
33111310 Nunnpnhs jwp < hwin 0 2 0,0
33191310 Ynbiwdl hwinwyny 1) thnpdwtinp < hwtn 0 500 0,0
38431710 Mhwbun wwuwbiph 9< hwn 30 1000 30,0
38431710 Ugwnndwin whwbn Yupnghl 100-1000dly; <L huwin 7790 4 31,2
38431720 Mhwtwnh dwipwnhp Shynpnd a4 huwn 15,625 384 6,0
33141136 Lbipwpqunwiht ibpwpliwt Ywpebnbp < hwn 0 100 0,0
33141137 Lbpwpgunwiht Ubpwpldwt Ywpbnbp q< hwwn 5850 50 292,5
33141130 Swpw wuwihgh ng unbiphy 1004 Q< hwwn 32 6000 192,0
33141410 Swpw wuwihgh uwnbkphy 100d; < hwwn 34 4000 136,0
33141202 EUS-h bialunpnn %< | hwmn 50 20000 | 1000.0
33141202 Blbywpnn wubinuiht K hwn 1920 50 96,0
33141202 Eiayunpnn dwlbpbuwht duy/ogun L hwn 1150 72 82,8
33141202 Eiblwnpnn, wwuhy < hun 28000 2 56,0
33141202 Lnnuiigdw jwp Q<L hwn 34000 1 34,0
33141136 “wplintip dhquijht bnwénn 206 QL hwun 350 160 56,0
33141136 Ywpbinbp dhquiht bnw6jmin 186 9L hwwn 350 60 21,0
33141136 “wpbnbp wuwhpwghnt 9L hwtn 103 1200 123,6
33141136 Hwpbntp Bdpniklwnndhuwih Snqupunp npyh 9< hwuwn 16500 15 247,5
33141100 | Ubljuiquijw ogunwgnpddwl Rhup-tiphq qynndtuph < hwwn 150 5000 750,0
33141142 Ubpuwiplihgtbp 50,0 <l huwtn 90 3000 270,0
33141142 Lbipwplyhsubp 60,0 < hwun 100 800 80,0
33141138 Hwnyw ppwppYwdlwihu QL hwwn 200 1000 200,0
33141138 “uwlynyw ppwiht 9L hwwn 15000 2 30,0
33141157 Louinwplbip b uwypbip Q< huin 30 1000 30,0
33141112 Uwbnwuh uwbnwyhy QL huwwn 7 10000 70,0
33141110 dppwlwubp/ Shuuwluy 30°20ud q< huin 650 720 468,0
33141120 Ubnuhsubp 9L hwwn 80 1000 80,0
33141211 Buwug nnwdph G< hwun 10000 100 1000,0
33141205 Eunnunpwiubwg funnnyuwl dwidtinm| G< hwwn 450 500 225,0
33141205 Eunnupwiubiwg funnnyuly L hwwn 500 80 40,0
33191620 Sujhsh pnine < hwn 1200 120 144,0
33161100 Eunnyhpwpnidwljwt Ywpng wnbn 24GH 9< hwn 15000 25 375,0
33191310 Ynbwdal hwinwlny 110) hnpdwunge 9L hwwn 579 500 289,5
33121180 Snundbinp unbitninulynuyny L hwin 7000 80 560,0
33141121 Yhpwpnidwlwl phijip Mniguulnpt 5/0 < hwin 670 180 120,6
33141182 Hpblwd nudnputh T80 A< | hwmn 6600 30 198,0
33141184 _@nph npbuwdh hwlwl Q< hwwn 6800 30 2040
33141182 fanph npbuwdubp QL huin 4200 40 168,0
33141182 Npnywjup npbLwdtbip unbiph; Q< hwwn 1800 300 540,0
33141136 Ybnpnuwlwl bpuluyht ywpbnbp < hwwn 7200 50 360,0
33141155 Elanpnlnwgnuyughnt nuitiul Q< huwwn 1000 500 500,0
33191310 Pnpdwlinpubp pnpnuhhwnwhu G< hwtn 60 1000 60,0
33191310 Pnpdutinpubip wwundwub bybunnp$ 1,50 Q< hwwn 10 6000 60,0
33191310 Pnpdwunph dby npwuuwnpuwht udnd 9L hwuwn 150 1000 150,0
33141183 2nun, unwdnpuwiht 9L hwwn 103 1000 103,0
33141211 Gnninh thwlwuny q< hwun 180 200 36,0
33141211 Mhwbnubp ELU < hwn 200 500 100,0
33141179 hudtilynndwinh hwywpwdnt L hwn 28 000 80 2240,0
33191620 fdninpe 4S% 150110 < hwwn 2600 60 156,0
33711490 MNuwhywlwlubp < hwn 60 12000 720,0
33141157 Uhypnwnndh otinp Y hwn 1300 300 390,0
33191280 Mwpwhhuwghbps dhnwnuwlywl Junwuuwp AL hwwn 21 000 3 63,0
33191620 Uwyuit bkipddnn quuituthwpebp <L hwn 1500 50 75,0
30232160 Qbpdwhu nwhs £un hwn 500 000 1 500,0
33191480 ULbpwpldwl uwpp Ynunpuwunwht byogeh [Ra) hwwn | 12 500 000 1 12500,0




33141202 Ejaywnpnn. wubnmuwihts EUS hwin 1920 50 96,0
33141202 Elayupnn, dwljbpbuwght duy/ogun EUn hwn 1150 72 82,8
33141202 Snnuiigdwl jwp Eus hwwn 34 000 1 34,0
33141202 BGlwnpnn wuwuhy EUs huwin 28 000 2 56,0
33141138 Hwlnyw ppujht EUS huwin 15 000 2 30,0
33191310 Yntiwdl hwinwlny 11d] thnpdwling [a¥1a) hwwn 579 500 289,5
33141142 dwubh Ubpwnlhs EUS | hwwn 25 000 3 75,0
33111490 24U onwp dwpdth hbnwgdwy Ybnhl EUs hwn 2000 50 100,0
33141211 Upinwdsdhs Ynwgnywnnph deluliquadjw dwipwnhn EUs hwwn 8 000 100 800,0
44311290 Lbunpuwkitilinpnn/ wwuhy bblnpnn EUs hwn 1500 50 75,0
30237475 Rupdwht nihs EUS | hwn | 100000 2 200,0
38431700 Snwywdpwpwliwlwl Yuubnubp Eus hwn 50 2000 100,0
33171500 Ewhnnipw) wuqquiugdwl hwywpwdnt kun hwn 4500 250 1125,0
33141179 Pdawluwl hujwpwdmubin wughngpu$hwih hwdwp Eus hwn 19800 480 9504,0
33141184 Uhannpnahs nignnpnps hhnpndhy -0,018 j Kus hwn 16000 30 480,0
33141201 Puwfuhjubp uu hwwn 6 16600 99,6
32351230 Mgl dwwwytis 30*40 (N 100) Ul hwin 38500 15 577.5
38431700 Uhlypnuinndh gbinp N50 Uu wnnith 65000 3 195,0
33141142 Ubpuwnlhs 1q UU | hwwn 20 5000 100,0
33141121 Yhpwpnidwljw ph| wnhwpnwhibu uu hwn 315 312 98,3
34141173 Utigpnnitihg uu hwwn 51 1800 91,8
33141140 Uuwhpwghnt Yupbnp uu hwwn 103 970 99,9
33791300 Pnpnuphlwinwihy thnpéwlinge uu hwwn 60 500 30,0
33141149 Shunnyuwyht wubnibp quipybpulught uu huwin 200 250 50,0
33141149 Shunnywih wubntibp bpwlwht Ul hunn 200 250 50,0
38431700 fdtipdndwuywytiy uu hwn 3400 70 238,0
31651200 EUS dwwywytu58*20 uu hwn 900 450 405,0
38431700 Ewbunnp$/ jwpnpnunnp wwpwquw uu hwin 10 2000 20,0
38431700 fdnnp 4S9 150110 uu hwn 2600 20 52,0
24931500 Gpliwlhs uu hwwn 8100 12 97,2
24931600 “wyniuwgnighs uu hwin 8100 5 40,5
33141183 Unwidnpuwjhti gntun, uu hun 103 970 99,9
9221200 Mwpwhhu uu g 3350 40 134,0
35121290 Syhs SPO2 NEO 3 uu hwtn 15000 6 90,0
44611130 Ltipnywjqliph wpubunuwp uu hwwn 2550 20 51,0
38581200 Mtnglith gbubpwinnph bpwhuldwl uwhly Ul huwin 480000 1 480,0
Cunwdbbip 507100,4
£hUhULUL L3NMIGP
33211450 Upniuiht 9< | pbup 0 7000 0,0
33211450 Upnudht < | phup 11,04 1000 1,0
33211430 Uhw wihjuqu 9L phup 0 2000 0,0
33211430 Uidw wihjwqu 9L phup 169,8 1000 169,8
33211410 Uuwwpunwwihuninputiubbipug AST a< phup 0 7000 0,0
33211410 Uuwywpuwwdhbninputiupbipug AST K phup 21 4500 94,5
33211420 Ujwuhtuwdhunuinpuwtiubbinw ALT < phup 0 8600 0,0
33211420 Uwuhuwdhunnpwbiupbipuy ALT < phup 21 5500 115,5
33211140 Phihnnipht/Cunhuinin W ninhn phihrniphtp npngtwt Q< b 0 21000 0.0
Rhup-hwjwpwdnt
33aniq0 | CMMnERWCLRALnn W unfn phihanteRUR npnzdul < | ptup 2,6 10000 216,0
phup-hwywpwdnt
33211340 Lhdnginpht Q< phup 0 8000 0,0
33211340 Lbdngnpht Q<L phiup 5,85 800 4,7
Utinhwuppht MediScreen /Utigh dtig gyningh L
U e s 2 e 9<¢ | ptup 17,76 8400 1492
™ iScreen 9 qUAGNQN, Whjua,
uyhunwlnigh, pH,nnuttiph,ubuwlwpun Ynh,
33211110 Uhiphwtbph, {nghuttinh, ninninphthgbth s | phup 65,4 5000 327,0
phihnntuhuh npndwit pliup unphwltinh hwywpwdnt
CYAN strin unuunh hinfuin
33211160 Ypbwwnhpl CREA-Col/ Ynbwnhlihlip npnodw phiup qL phup 9,15 25000 228,8




33211160 Ypbwinhbiht htwqu < plup 0 2000 0,0
33211160 YpbwnhUhl Yhtwqu < phup 150 1000 150,0
33211310 fepndpnuywunhtih npngdwb phup hwywpwdnt < phup 50 24000 1200,0
33211150 | Uhqutymp Urea-Col / Uhquitynizh pbupe - hujwpwént 9< rhup 0 15000 0,0
332M850 | Uhquiynye Urea-Col / Uhquiyniah pliup - hwywpwént q< piup 21,7 7200 156,2
Caywwhin C Jhpnwh wlnhgbuh npulwlut
1 23,7
33211320 Bttt cby < pRhup 02,96 8000 823
33211320 <buuinhun B dhpnuh utinhgbUh bl o< | ptup 66 8000 | 5280
hwpnuwpbipdwl pbu
Saatiazg [ SPRMWRbM CARPRI N, il T oo | ww | 108w | e |t
33320 | <twwnhen B dhpnuwh ““;‘:"q""h hiamnlupbyatish %< | ptup | 113,75 1728 196,6
33211130 funibuwntpn CHOLESTEROL /Bunhwlnin funjbuwnbiphtip ac Al 0 4000 0.0
Rhup-hwywpwdnt
33211130 Fununbipng CHOLESTEROL /Cunhwunip funjbunbiphth ac i 2 1000 2.0
phup-hwdwpwdnt
33211130 funjbuwntipn) /HDL- funjbuinbipht AL phup 0 400 0,0
33211290 Ywihnudh npngdwl phup-hwywpwdnt < phup 0 18000 0,0
33211290 Ywihnulh npnguwt phup-hwiwpudn Q< phup 93,6 1000 93,6
33211300 Ywighnuwih npnodwit phup-hwwpwdnt Q< rliup 0 3000 0,0
33211300 Ywighnudh npnadwty phiup-hwywpwént G< phup 21 1000 21,0
33691162 Luwnphnul q< phup 0 800 0,0
33211290 Luwwphnud q< Rhiup 319,95 200 64,0
Cwlwuwnpbupnninhght-0 Anti Streptolysina-
33211260 | O/<wywuwnpbiyyinnihight-0 npngdwi phup-hwlwpwény K pliup 26,4 1500 39,6
ASO/latex__
33211270 Snuiw| ypninbh-n) Total protein-Col/Crhwling Q¢ B 0 7000 0.0
uwhunwilinigh npnadwl phup hwywpwsn
33211270 Snunwy wpninbht-Yn| Total protein-Col/Crthwunip Q< istup 8,88 3000 %.6
uwhnwinigh npnpdwt phiup hwdwpwdn
33211470 Spnwynthl/wiuwn.Ujnyabip/ G< phiup 0 1000 0,0
33211470 Spnwnupb/wiun. bynysbip/ Q< phiup 322,8 500 161,4
MHudwwnnpn $wlnnp Cwinkpu Rematuoid factor-
33211240 lex/Mudunnnhruwiht $wlinnptbiph npnpuwt phu- 9< Rliup 25,68 2000 514
—_hwdwowdny
33211120 Synilyng G-col/gynijngh npngtiwl phup-hwywpwdny < phup 0 25000 0,0
33211120 Syniyng G-col/gyniyngh npnotiwt REuR-hwywpuwdny < RbuR 9,24 15000 138,6
S-nbuljinhy wpnnbht-uinbipu C-Reactive Protein-lex/C-
150 385,2
1730 nbwlunhy uhnwlnigh npngdwl phup-hwywpwdnt ¥ Rl %60 e
33211230 MFTM-Ywppnt RPR C:RBﬁf:/Ufr?:/hmuh npnadwl phup- qc ok 33 5000 165,0
UL 1
33211190 Snihynt wuwnh-A fwpywts fudph 1 npnodwt phiup G phup 2,4 12000 28,8
33211200 Snjhlynt winh-B /wpjwb fudph 11 npnoduwts phup < rhup 2,4 12000 28,8
33211200 Snihlyinti wunh-AB 9L Rhup 3,96 1000 4,0
33211220 Snihlynt wuwh-Unuybtin/ th D nbiqnw hwdwlwpgh Q< i 4,8 12000 57.6
winhgbith npnadwl phu
33211210 Snihlnt wuwh-Unwybin/ rh C nbiqniu hwidwlwpgh Q< pliie 9 1200 10,8
wuwhqgbth npnodwl phu
33211180 Sphaitighphny TRIGLECERIDES/Gng hgbiphnh npnadwl ac ki 0 2000 0.0
—_Rbup-hwywpwdnt
33211180 | Srhalghnhn TR'G';ECESLD"F’S’ b";t‘lf‘gh"h"h Lo T PR e 45 500 225
U 24 LU D LU
Mpnunwn uwbighdhly wunhgbuh npwlwhut npndwl
9L b 0 672 0,0
s bup- hwJwpwdnyPSA plinhulin ; gl
Mpnunuwin uybigh$hly wnhgbuh npwlwywl npnpdwt
9< 1275 384 49,0
1100 phup- hwdwpwdnyPSA pinhwtinip iy
33211350 Shpbinunpny hnpdnti HTSH < phup 0 2304 0,0
33211350 f3hpbinunpny hnpdnt HTSH 9L phup 135,63 1152 156,2
33211370 (dhpopuhu T4 < Rhup 0 384 0,0




33211370 [@hpopuht T4 9< phup 171,875 192 33,0
33211370 Uquin phpopupt FT4 9< | ptup | 159,375 1152 183,6
33211380 Gnjnnehpnupt T3 9L phup 0 288 0,0
33211380 Gnynnhpntiht T3 < Rhup 177,083 96 17,0
33211380 Uquun innnyehnntht FT3 9L phup 0 288 0,0
33211380 Uqwn tnynnphpnupt FT3 A pbup 165 96 15,8
33211390 | Anti TG-<wlwdwpdhutitp prhptingnpnyhth Lywndwdp q< pbup 165,625 576 95,4
aznago | AM TPO-Cwhwidwpdhubbip phpbnytnopubwah 9z | phup | 1625 960 16,0
Llwndwdp
33211280 Ppnighingh npnodwit phiup hwyupwdnt 9L phup 0 200 0,0
33211280 Ppnigliingh npndwl phiup hwywpwdnt q< phup 240 150 36,0
33211170 Uhquppnt UricAcid/Uhquppyh npngiwl phup- 9¢ e 0 1500 0.0
___hwdwpwidnt
33211170 Uhquiprn: UricAcid/Uhquiprdh npndul plue- o | phup | 262 1200 31,4
hwywpwédnt
33211430 Swddw gynunwidhy inputiubbipwqu L phup 58,5 1000 58,5
Lwpnpwunnp wanutynipbp/nbwqbtntGp/ Faup
Saeatie Unwlpnul pwpliwd wpintup npnobing hwdwp i Rl 518 190 B
33691162 Lwpnpuwwnnp wgqwjniphip/nbwgbtintbp/ LDH-L < phup 0 2000 0,0
33691162 Lwpnpwinnp wgnwlniphp/nbwgbtnutp/ LDH-L QL pbup 24 1000 24,0
33691162 Lwpnpwunnp wqnwniptip/nbugbtnbbpn/ Snudnp < phup 35 1200 42,0
33691162 Lwpnpwunp wanuilynyebp/ntiwgblnttp/HIV- ahUL Q< phup 177,6 5000 888,0
33691162 Lwpnpuinnp wgnulniptin/nawgbuntbp/MMd QL pbup 45 8000 360,0
33691162 Lwpnpwunnp wqnuniplip/nbwgblnttin/Uwqlbghnuwh 9¢ i 30 1000 30,0
npnadwl phup
33211430 <hdu. $nupwinwquih npnodwl hwyupwsdnt Q< Bhiup 34,8 200 7,0
33211500 Stiphunht 9L phiup 318,75 576 183,6
33211500 Zhjhnpulinbp 9< | phup 0 576 0,0
Lwpnpwwnnp wanuiympbp/nbwgblnutp/ Yntunpng
33691162 ki Giiitoi 65 q< phup 6936 1 6.9
Lwpnpwwnnp wqnutynyetip/nbwgbntbn/ Gntnpng
33691162 iU i Bl 5 q< Rhup 6936 1 6,9
33211500 Unpynitwpwbwlwt wiwhqunnph nbwlnhgubn- ac _— 0 60 0.0
Lnidhs+wuwiinnn-20;
ssmsop | Umeibwpuwbubuwl whuihquinnph nbulnfbep- ac | hun | 138000 40 5520,0
Lndhs+wjwinnn-20;
33211500 Upniiwpwiwyut wbwihquwnph nbwlnhdubn-HGB - ac i 0 18 0,0
puijpwinn nhwqlitin-3,8,
sagfisgy’ | AN vputluCwahauma R REITGE | o 1 e T Jasa00 6 871,2
puwipwinn nhwghtin-3 8
33211500 Upjntiwpwliwywt wiwihquwnph rbwlnhubp-WBC ac b 0 40 0.0
pwipwinn nhwghbuwn-3.8)
gy | AR Wia b GEEERES | o i | eoson 28 2536,8
pwipwinn nbwabiuwn-3,8;
Upnitwpwiwlwl whwhquinnph nbwljnhdubn- 1 00
SBaNs00 Eughdwunhl nhughitn-1004; : #e | i 9 '
Unpjnitwpwwlwl whwihquuwnph nbwynpyubn-
296400 2 592,8
T Eughuwinhl nbwabiun 1004 ol R
33211500 Unjnitwpwlwlwt wbwihquwnph nbwlnhdubp- Q< i 0 " 0.0
Ywihppwing pwpwnphe
33211501 Unynibiuipuibuluil wbuihquinnph nbwlnhduan- a< | pbup | 403200 4 1612,8
Luwihppwinnn pwpwnphe
33211500 Upjniiwpwtiwljw wbwm;:lut:;nnh nbwlwnhdubip-ubiunp qc phup: 0 2 0,0
LA
33211501 | Anmbwpuwlwl “‘““’"L‘L”‘n‘"""h rhudpapuop-obtimg | o | weis | 7avoon 7 1029,0
w
33211470 Spnwnthu | QL phup 0 3000 0,0
33211470 Spnuwyntipt | 9L phup 2100 2000 4200,0
33211330 MNpnunwn uwtighdhly winhgbuh npntwt phupe ac e 0 200 0.0

hwdwpéni-PSA




Mpnuinwin uwbgh$hly wlnhgUf npnydwl phup

321 < 1800 100 180,0
e huwwpwdni-PSA * e
33691162 | Lwpnpwwnnp wqnulyniebip/nbwgbintbp/ dhinwdpu D < Rhup 2400 200 480,0
33691162 Lwpnpuinnp wanuitynipbip/nbwgbunubp/ D-Dimer Q< phup 199,8 100 20,0
Lwpnpunnnp wanwtynyebp/nbwgblntbp/
33691162 q< 0 100 0,0
aihlmhuaud Hsnginohs__ P
Lwpnpwinnp wqruwbynietin/nbwgbuntbp/
q< 1800 50 90,0
as0nnios ajhtinihgwaywd htidnginphtu g
33211250 8-nbwlnhy wpninkht < phup 1800 100 180,0
33691162 Lwwnphnipbinhly uyhunwlynig <L Rhiup 2400 50 120,0
33691162 Ynpunhgny < phiup 2400 50 120,0
33691162 Mpnluwyghnntpu < phup 2400 150 360,0
33691162 Uhlpnw pnudpt dgh bk 9< phup 1800 25 45,0
33691162 a-phwnnupninbihl 9L phup 1800 25 45,0
33211350 fghpbnunpnuy hnpdnt q< phup 0 50 0,0
33211350 [dhpbnunpny hnpdnt < phup 1800 25 45,0
33211370 (Ghpopuh_T4 pnhwunip < phup 0 50 0,0
33211370 fahpopupli T4 plinhwunwp Q< phiup 1800 25 45,0
33211500 Mpnjwlywht phup 1800 25 45,0
33691162 Cobas e 411 Ejtiljuhu puipdp qquytingejwt Spnynupu T . 0 10 0.0
puliwbwlwl npnodwl phup hwwpwdnt
33691162 Cobas e 411 Ejluhu pupdn qquitinieiut Spnwyntpt T ac han 118100 5 236.2
pwbwlwlwl npnodwl phup hunwpwdnt
33691162 Cobas e 411 Ejblupu pzp?:r; ictnu:‘j:mmwh Spnwnupts T Q¢ fiiin 0 3 0,0
33691162 Cobas e 411 Ejtlupu p::m?ip z:::jhmmwb Spnwynup T q¢ T 25800 i 25,8
33691162 Cobas e 411 Ejliuhu wpbuhlntwpn; Spnuyntht < hwin 0 2 0,0
33691162 Cobas e 411 Ejlijuhu wphiuhyntnpn; Spnuynuht 9L hwwn 21700 1 21,7
33691162 Cobas ¢ 411 Eibuhu wquin phnopuhUh npnadull 9< | huwn | 38400 6 230,4
hwywpwdnt
33691162 Cobas e 411 fjlijuhu wquin Rhpopuhtih Ywihppwwnnp <L hwn 0 2 0,0
33691162 Cobas e 411 Elijupu wquin phpopuptih Yuihppwinnp A hwin 27700 1 27,7
33691162 Cobas e 411 Ejbuhu phpbnupnuy hnpdnth pwbiwljwljuts q¢ Bl 0 7 0.0
npnodwl phuwn-hwywpdnt
33691162 Cobas e 411 Eiiljupu phpbinupny hnpdnuh putiwwljul qc o 23600 4 94.4
npnodwl phumn-hwdwpdne
33691162 | Cobas e 411 Ejljupu phptinupny hnpuntuh Yuihppunnp 94 hwwn 0 4 0,0
33691162 | Cobas e 411 kjiljuhu phptinnpny hnpdnuh Ywihppuanp Q< hwwn 21500 1 215
Cobas e 411 Ejilupu <wlwphpnhn whbipnpuhnwgh
33691162 sk uniTE o ek v i aiista < hwwn 39100 1 391
3369mez | Cobese N Bbluhu Cwluiphpobn whpnpubmudh | T T 1 24,2
hwlwdwpdhtubiph bwihppwianp
Cobas e uhu inpptinginiphihth Uundwdp
33691162 hwlwdwpdhuubiph pwbwlwlul npnodul phuwn- £ 1S huin 62300 1 62,3
_hwdwpwén
33691162 | CoPas e 411 Eibluhu hntingniphjhuh Wuwindudp 9<¢ | hun | 26900 1 26,9
hwlwdwndhuu wihppwnn,
33691162 Cobas e 411 Elbuhu Muwpuinfpbng. hnpdnth 9< | huwn | 93900 2 187,8
wiwlwlwu npnodwl phun- hwdwpwdnt
33691162 Cobas e 411 Ljiljuhu Mwpwinhpbing hnpdntih ac i 0 ) 0.0
Ywnhppwinnp
33691162 Cobas e 411 Ejahuhu Mwpwinhpbing, hnpdnup Pt 26900 1 26.9
Ywphppwinnp
33691162 Cobas e 411 Ejliljuhu wptiupynuwnpng Thyro Ab-h G< hwwn 70400 1 70,4
33691162 Cobas e 411 Ejiyuhu wpbuhlntinpn Jwphw < hwwn 61000 1 61,0
33691162 Cobas e 411 Ejkljupu uhuyny 9L hwn 4500 5 22,5
33691162 Cobas e 411 Ejiyuhu ntinutinh pusthdwl wpln < hwtn 0 1 0,0
33691162 Cobas e 411 _khljupu unnighsh wunpubiph hwywp QL hwin 0 1 0,0
33691162 Cobas e 411 bjbiljuhu dwypwrhpubip < hwwn 0 2 0,0




Cobas e411-h upwppbpuwlwl wEUERGwhwt futiwiph

33691162 Q< hunn 0 1 0,0
hpwhwtwagnul
33691420 Ubpyuwly XP-300 3< | hwn 0 180 0,0
33691420 Ubijwwy XP-300 9L hwin 21000 100 2100,0
33691420 Uinpndwwnnjwglip-WH XP-300 < hwn 0 50 0,0
33691420 Uunpndwunnjuwyqlip-WH XP-300 R hwin 120240 40 4809,6
33691420 Ubiypihtu XP-300 <L huwin 0 13 0,0
33691420 Uty pihu XP-300 Q< hwin 42600 10 426,0
33691420 | fFninp whiwinbugwd obipduyh nuhgh hwdwp XP-300 Q< hwwn 534 200 106,8
33691420 UhUp Ynghln XP-301 < | hwwn 90 2000 180,0
a3eorngy | Cobas e M1 Ebluhu $nywrepdh putiwlulul nnpdul %< | hwn | 79700 1 79,7
phuwn-hwdwpwédnt
33691162 Cobas e 411_jtiyuhu $njwppdh Ywipppwinp 9L hwun 26900 1 26,9
33691162 Cabas e 411 Ejblupu Jhuinwihu B 12 pwlwlwlwl a< Kl 38300 1 38,3
npn2dwt phun-hwywpwdn
33691162 Cobas e 411 biilyupu Jhwnwdhl B 12p Yuwibppwwnp < hwn 26800 1 26,8
33691162 Cobas e 411 Mpbuhyntnpng nihytipuwy Q< hwwn 25800 2 51,6
33691162 Cobas e 411 Mptupyntnpng dnynhdwplybp Q< hwwn 0 2 0,0
33691162 Cobas e 411 Ejbluhu jnidhs dnynp 9L hwwn 0 1 0,0
33691162 Cobas e 411 kjbiljupu \mshs nwhybpuwy q< hwwn 0 2 0,0
33691162 Cobas e 411 Ejbluhu Ywihppwinph wunputiph ac - 0 1 0.0
hwiwpwdni
33691162 Cobas e 411 kjiyuhu unnighs wunpubiph hwiwpuwdnt AL hwwn 0 1 0,0
33691162 Cobas e 411 ISE upulyjhl 9L huwin 0 1 0,0
33691162 | Cobas cl11 PhyL- funjbiupbinng npnadwt phup hujwpwdne |  9<£ hunn 0 2 0,0
33691162 | Cobas cI11 PhyL- funbupbinn| npnatwl pbue hwwpwsn|  G< hwwn 41700 1 41,7
33691162 Cobas c111 Ywihppwinnp (huhnutiph hwdwp < hwwn 17700 1 17,7
33691162 Yihtiuby 9L huwin 0 7 0,0
33691162 Mpnub < hwin 0 7 0,0
33691162 el 1 QC-dwlwpnwy 2 L hwuwn 60000 1 60,0
33691162 Cwingbt qwdy 12V/20W Uwhuwinbiuws cobas ¢1i uwnph ac — 54000 ) 108.0
hwiwp
33691162 | ULwpyuinnp Uwhiwunbugwsd  cobas cI11 uwpph hwdwp < hunn 36000 1 36,0
33691423 el 1 Cartridge 600 < hwwn 240000 12 2880,0
33691423 el 1 Cartridge 300 < hwwn 0 6 0,0
33691162 Unupwglnn hbinniy NaCl 9% QL hwn 14600 1 14,6
33691162 Ywihppwinnp Ui Uwfuwintiuwd phnphdhwlwt Q< _— 0 5 0.0
Lunbinh hwdw
33601162 | WIPPPWnnD Wi Lwhawnbudwd phnphdhulu 9< | hun | 34700 ! 347
phunbiph hwdwn
33691162 | Lywgnn htinniy cleaner cobas Mwuwihquwnph hwdwn 9< hun 14100 8 12,8
33691162 Uwnnighy Wi wpbiuhyntwnpng dnyinh 1 Q<L hwwn 7560 1 7,6
33691162 Uuinighs ynip wpbiuhyntinpn| dnywnh 2 < hwwn 7560 1 7,6
33691162 “npwu inh wunpbin Uwfuwnbuws cobas i1l uwpph ac b 0 5 0.0
hwdwp
33691162 Uuyupunuwin wihtininputu$bpwg nppdwn phun ac Kibin 17900 30 537,0
hwiwpwdnt

33691162 Gt ‘“""""‘":l"‘l"';‘l‘ﬁf‘h':? OGN ks 9< | hun | 17400 30 522,0
33691162 Uhquujnish npngdwl phiun hwywpwdnt 9L hwwn 0 30 0,0
33691162 Uhquitynish npnadwl phiuwn hudwpuwdnt QL hwwn 18300 20 366,0
33691162 Cunhwlinip uyhinwlnig npnpdwl phutn hwyjwpuwdnt < hwwn 21700 10 217,0
33691162 Uihw wihjwg npnpdwl pbumn hwywpwdnt Q< hwuwn 0 12 0.0
33691162 Uihw wdhjwq npnpdwl pbuwn hwywpwédnt Q< hwn 42700 6 256,2
33691162 Wpnwht npngdwl phiun hwupwdnt < hwwn 18400 10 184,0
33691162 Hawynninthuhquiging hinnd, Uwhuwnbujws cobas cl1i a¢ Rt 6700 6 402

uwpnph hwdwn




MHwlhghnt Ynitnbbph huduwpwdnt Uwhuwnbufws

33691162 o, C?Il:’asﬁ':"hu# : hwbiwg — 9< hunn 0 18 0,0
wyghnu Ynubntbiph hwwpwsdnt bwhiwnbudw
33691162 O O3 9L hwwn 63800 10 638,0
33691162 Ypbwwnhuht npnpdwl phiuwn hwywpwdni < hwwn 15500 20 310,0
33691162 Syniyngh npnadwls phun hwywpwdnt Q< hwwn 0 60 0,0
33691162 Syniyngh npnadwls phutn hwjwpwdni 9L huwin 16400 40 656,0
33691162 tunjuinbiph npngdwts phiun hwywpwdnt < hwwn 16000 2 32,0
33691162 Sphgihgbiphnutiph npnadwl phuwn hwywpwént < hwwn 16000 2 32,0
33691162 Manwlh phihnniphtih npnadwl phun hwywpuwdn < hwwn 10500 20 210,0
33691162 CunhwUnip phihnniphtih phun hwdwpwdnt Q< hwwn 22100 20 442,0
33691162 | Lwlnunn nbhhnpngbuwgh npnpdwt pbun- hwjwpwdnt| 9« huin 19700 8 157,6
33691162 Ypbwinht Yhtwquih npnpdwt Ywihppwnnp Q< hwin 0 8 0,0
33691162 Ypbiwinht Yhtiwquih npnadw Gwihppwinnp qc hwun 34700 6 208,2
33691162 Shpphungbtih npnpdwl phuwn hwywpwént Q< hwn 154080 8 1232,6
33691162 Unnighs imidnuye start 4 coag hwidwp L hwwn 0 1 0,0
Cobas e 41T Elecsys 2070 EEluhu <npnipjwl Ran
33691162 | wunguiglwd wwquwht uwhwnwlnigh npnadwl ibuwn < nnith 229200 21 4813,2
hwdwpwdnt
33601162 Cobas e 411 Elecsys 2010 kjluhu Efliyuhu <nhnipjut htin ac p— 26900 ) 53.8
wunguigywd wwquwihl uyhuwynigh Ywihppuwnnp
33691162 Cobas e 411 Elecsys 2010 free hCG+B pulwlwluu ac wnnuf 164300 2N 34503
npnodwil phun-hwywpwidni
33691162 Cabas e 411 Elecsys 2010 free hCG+B Ywihppwinnp G< nnuh 26900 2 53,8
33691162 Cobas e 411 Elecsys 2010 EGlupu wnbuhyntwpng ac it 162300 3 486.9
dupuilwy hiuwdp
33691162 Cobas e 411 Elecsys 2010 Ejbluhu Lnidhs nwhybpuw < wnntth 14600 1 14,6
33691162 Cobas e 411 Elecsys 2010 Ebiljupu Guihppwinnph Q¢ — 26900 : 26.9
wlnpubinh hwyw,
33691162 Cobas e 411 Elecsys 2010h I:ﬂ:uuhu unnmighsh wunputinh qc wnh 18100 1 18,1
wyuwip
33691162 Cobas e 411 Elecsys 2010 Ejkijuhu ISE uhulyiht L nnuth 17500 1 17,5
33691162 Cobas e 411 Elecsys 2010 Unwuwnbip Uhupjht 9L hwn 0 1 0,0
33691162 Cobas e 411 Elecsys 2010 kjyupu uhuyny L hwn 4500 4 18,0
33691162 Cobas e 411 Elecsys 2010 Ejblupu Npnuby Q< wnuh 21900 10 219,0
33691162 Cobas e 411 Elecsys 2010 kjtiljuhu Yjhuuty < uintth 21900 10 219,0
33691162 Cobas e 411 Elecsys 2010 Ejtluhu dhlpnlynutintbp < unith 41300 2 82,6
33141100 Cobas e 411 Elecsys 2010 kjaluhu dwypwnhplbip < wintth 41200 3 123,6
33141211 Uhlypnlynwjtintibnh U Swinwnhpltph euithntubnh i 0 1 0.0
___tnwpuwtbp

33141211 Cobas e 411 Elecsys 2010 Ynpwu Udnivh wlnputip AL nnup 0 1 0,0
33191310 Upjuits tinipuindwl Ywlnuiwiht ginpawting < hwn 93,6 2000 187,2
33141211 Uubnubin Juwynunwiubptibiph hwdwp < huin 25 2000 50,0
33141211 Unwwwnp Ywlnunwibptbiph hwdwp < hwwn 0 2000 0,0
33691870 Uhihywqbiih dwuthliubpny Yuyniu jmidnure 80% Q< | 0 200 0,0
33691871 UhihYwgbih dwubhlubpny Yuwyni jndnyre 80% < Uy 2400 100 240,0
33691870 Uhihyuwatih duiutibliubpny Yuynit ndnyre 40% L Uy 0 200 0,0
33691871 UhihYugth dwuthlubipny Yuyniu indnyre 40% Q< Uy 1750 100 175,0
33691166 Lyhtp unwpbpugnpdiwt dhowdwih < hwun 0 10 0,0
33691167 Lyhtp Yunwpbiwgnpdiwl dhowuh L hwn 68000 & 340,0
33211450 Ujpnwihu < phup 0 7000 0.0
33211450 Ujpnuwhu QL Rhup 10,92 3000 32,8
33211430 Ubw wipjwqu < phiup 0 2000 0,0
33211430 Uibw undhjuqu < phiup 168,9 1000 168,9
33211160 “ptiwnhupt CREA-Col/ UpbiwwnhUpth npnadwt phup < phup 0 25000 0,0
33211160 | “pbunnhtpl CREA-Col/ YpbwwhUfitih npnoiw phup 9< | phup 8,82 16000 1411
33211320 Ctuguunhin € ghnniuh wlnhghh npwlwhul %< | ptup 100 8000 800,0

hwpnuwpbndwl pbue




Cbywwnhwin B yhpnwh wlnhgbUp hwpnbwpbpdwl

3321320 4L hup 10 864 95,0
rhup
33211130 funibuwntipn| CHOLt:ltROL /Dhn:nwbmp funjunbphtp ac il 0 4000 0.0
___Rliup-hwjwpwsnt
33211130 funjGuntipn| CHOLESTEROL /Cunhwlnip funjiunbiphtp 9¢ it 18 2000 36,0
phup-hwdwpwdnt
33211290 “wihnuwih npnpuwl phup-hwywpwdnt <L phup 0 18000 0,0
33211290 Ywihnudh npnadwl Rhup-hwywpwdnt Q< phup 153 4000 612,0
33211300 Hwighnuih npnpdwl phupe-hwwpudng Q< phup 0 3000 0,0
33211300 “uwighnuwih npnadwt phiup-huiwpwsnt < phup 19,8 1000 19,8
<mm%ﬁ'ﬁ%m%r;r%@na-
33211260 | O/<wlwuwnpbujnnhqht-0 npndwl phup-hwwpwsny G< phup 26,88 1500 40,3
ASO/ latex
33211470 Spnuyntht/whun. ynipbip/ Q<L Rhup 0 1000 0,0
33211470 Spnwnuhb/whun. tyniptin/ 9L phup 321,6 300 96,5
MHudwnnfin $ulnnp Cwinbpu Rematuoid factor-
33211240 lex/MHudwinnhnuwiht wlnpubiph npngdwl phiup- < phup 24,48 2000 49,0
hwdwpuény/
S-nbwlnhy wpninbhli-jwinbipu C-Reactive Protein-lex/C-
33211250 buaunhy uwhunaligh npnputl phuphuupusn: < phup 2424 15000 363,6
33211190 nihlyint wuwnh-A fwpput fudph 1l npngdwt phupe 9< phup 2,31 12000 27,7
33211200 Snihyint wlwnh-B /wpjwt fudph 11 npnadwil phup < phup 2,31. 12000 27,7
332220 | Smiblint “‘:“’;Lﬁ:::""’n "r“ %:Zq"“l‘j Py 9¢ | phup 4,44 12000 53,3
33211180 Sphaighphn, TRIGLECERIDES/bnqihgtiphnh npnptwt a< b 39 2000 78.0
phup-hwdwpwdnt
33691162 Lwpnpwunnp wgnwyniptip/nbwgbtintbp/ LDH-L 9< phup 38,4 2000 76,8
33691162 Lwpnpunnp wqnwunipbip/nbwgbunubp/HIV- 2hUL Q< plup 175,2 5000 876,0
33211430 <pdu. prupwinwquih npnadwts huswpwént q< pbup 39 200 7,8
33211130 tunjtiuntipn| /HDL- funjtuntipht Q< phup 240 400 96,0
33691873 Eunn wqup 9< g 51000 2 102
33691873 Ugwp Uwpnipn < liq 36000 2 72
33691163 Uquip Ujnyitip <pupntih Q<L liq 48000 1 48
33691163 Cnlnjwnwiht wgwn q< hwwn 0 60 0
33691163 Cnynjwnwiht wqup < hwin 498 20 9,96
33691163 SGwquihl fuwntinipn wuwkpnp < hwwn 0 30 0
33691163 Uwtihin wnwjht wquwp QL Lg 0 3 0
33691163 Uwitihun wnuwijht wqunp < Lg 30720 2 61,44
33691160 Syniynqus < Ug 10000 1 10
3369116 Cjhynpulnbp phup q< huwtn 0 50 0
33691874 Ugbtnwuwn wqup < Ya 0 1 0
33691874 Ugbunwun wquwp QL g 52000 0,5 26
33691872 Uuw whwnnbwhl jud snp utinignn wqup < ljq 48000 1 48
33691163 Eunbpnlyny wquwp Q< g 108000 1 108
33691163 Ynunphnhnu wquwp < ug 0 1 0
33691163 Ynunphnhnu wquwp < Yg. 54000 0,5 27
33691163 Unphihph phup wqup L g 0 1 0
33691163 Unphihph phup wqwp < Lg 87000 0,5 43,5
33691163 XLD wquip Q< Lg 57600 1 57,6
33691162 Owuinfuht nhuly 9< | hunn 105 100 10,5
33691162 Pwghwpwght nhuly Q< hwwn 80 100 8
33121270 Culpuphninpbuwaquinigeiwt ulw JunuiuGn 9< | huwn 16 100 1.6
Udopuy| U+bjwidniiw
33121270 <whwphnmhhwq3$1bn;r:1|:$ Uiy < | hunn 16 300 48
33121270 <wl.|wphnmhquqwjhnqa;wg ulwywnwlubp/MEuhghhu 9¢ i 16 200 3.2
33121270 4“"““”‘""‘”‘"‘:;‘;'““""‘["’“"’:L'“‘"“‘"“‘““"'" 9¢ | huwn 16 200 32
dunphwpun
33121270 Cwhwphninhwqquytinypjul ulwwnwlutp/ ac - 16 200 32

Stbnunwpuhdd




Lwhwphnnhyuqquiuniiwt ulunwnwiubp/

qc hwun 16 200 3.2
33121270 Stbunwghnhy w
33121270 Cwlwphninhluqquytinipgul ulwjwnwyubp/ ac —_— 16 200 3
Ubpnwbubd
33691160 hihwbubd Q< hwin 0 200 0
33691160 hdhwbutd QL hwin 16 100 1,6
Lwlwphninhlwqguyunieiwt ulwywnwlukp/
70 < h 16 200 3.2
SRR Uopuhbjopuwaghts o
<wlwphnunhlwqgujtinejwl uywwnwlubp/
3 200 32
33121270 e St Q< hwwn 16
33121270 Cwfwphnuhlwqquijtinpjul uljwdwnwlutp/ qc fiia 16 200 32
Shwnninpuwght
33121270 Nl o o< | hun 16 200 32
ubwdwnwlubip/lL in$inpuwghts
33121270 Lwihnhpuwppnt q<L hwn 16 200 3,2
Cwlwphninhluqquitinipyut ufudwnwlutp/
127 16 200 3,2
ety Lhupndnipwunnhu e R
33121270 CwlwphnnhYwqquyunyajut ujwywnwlubp/ qc¢ R 16 200 32
FAG tnhmgndhthlju T ;
Cwhwphninhjwqguiunipiwtl uluwnwlutn
1 300 4,8
33121270 Yhtinwdhahl QL hwwn 6
33121270 Cullpwphmnhluwaguunipuul uGuijunwlubn/ G& | iwnn 16 200 32
o ; St:innwdhqh'u
whwppnunhywqquuniejuliuluwdwnwlubip nhulap/
1 16 2 v
33121270 Widhlwight < hwn 00 3,2
Cwhwphninhywaguunipjul uljwdunwlutp/
33121 6 s
3121270 St = 94 hwin 1 200 3,2
33121270 <uljwphmahbuiaquiuniayut ulyudunstuEr/ 9 | huwn 16 200 32
Stinwdhahu
33121270 Cuslpwphruhluwoquiuniiwt ujufunwbuen 7 a< | huwn 16 200 3.2
Dnubndhghts
wlwphnunhlwqquitinieiwl ufuiwnwluby/
33121270 h 1 20 32
“npuhghiht ¥ e € "
33121270 <wlwphnuinhluqqutniejwbufuunwlutp/ qc - 16 300 48
L'“'Ulﬂhl’nmmmm
33691162 Culuphninhbuwogujunteyutiulujunuwlbn/ LY 16 200 32
Hwtlyndhght
33691162 CuljuphmahluuqquaunieyutiulyudwnwGUn/ 9< | huwn 16 100 1,6
Lhunuyphunhl
33691162 <ulyuiphmahluuqquiuniejutiuliudunuGUen 9 | buw 16 200 32
Linpwddbbthlyng
33691166 Uhpwijuyp ingupwipuiht 9L Ug 40000 1 40
33691888 Utikup pnynt 9< g 42000 1 42
33691166 2hnt ohéiny < hwwn 20000 1 20
3360166 | "M n9GINQuIL wnunnpguuid wuinpnzhg 2ty 9¢ | hwn | 45000 1 45
wainunhtiwghwih nbwyahwih hwdwn 1-VI, sonnei
2np 2hqliinquiht wnunppgdwd whunnpnghs shéndy
91
A59M56 wgynunhuwghuwih nbwlghwih hwidwp $ikputibiph 1V s hay 30090 § 50
’Jlnn 2FqﬁlnquFE wrwnnngduﬁ wfunnpinghg 2han
33691166 wqynunhtwghwih nbwlghwh hwdwp $iputibph I-hu < huwin 45000 1 45
why
2nn 2hqbinquiht wnunppguwd whuninpnghy shénd
33691166
wqynunpiwghwih nbwlghugh hwdwnp $itputiiph |l nhy ¥ i 30009 J 30
2np 2hqbinquihli wnunppgyws whutnnpnghs shniy
1 1
Senes wqynunhbwghwih nbwlghwh hwiwp $ibputtiph 111 nhwy e s 000 =
2nn 2hqbinquihl wnunppgwd wiuwnnnnghs Jhand
33691166 waynunhtwghugh nbwlghwih hwdwp $bputitiph < hwwn 30000 1 30
_uin. 3.4
33601166 | 2 2habinquihl wnunnpgywd whunnnnzhy oheny 9< | hun | 45000 1 45

wqynunhuwghwih ntwlghwih hwdwp $itipuutinh fudp,6




2nn 2hqbinquiht wnunppgws whutnnpnghs Jhénd

33691166 wqynunhuwghwih nbwlyghwh hwdwp $itiputbph < hwin 30000 1 30
hudn.7.8
33691166 2np uwdnubiinquihu wnunppguwsd whunnpnghs ohéniy q¢ . 55000 1 55
waynunhtwghwih nbwyghwih hwiwnp ABCDE
33691166 2nn uwinubinquijhte wnunppgwd whunnpnghs 2hénd a<c i 55000 | 55
waqinunhliwghwih nbwlghwih hwdwn 04
33691166 2nn uwdnubiinquiht wnunppgywd whitnnpnahs 2hGnty ac o 55000 1 55
waynunhtwahwih nbwhghwih hwdwp 09
2np uwdnubiinquiht wnunppgywd whunnpnghs 2hénd) 000 1 39
aacnes wqyinunhbwghwih nbwbghwih hwdwp 012 e o -
33691166 2np uwdnubiinquiht wnunppgywd w[uumpnﬂw% 2htny ac Kiiiiii 39000 1 39
wayinunptwghwih nbwbghwih hwdwp Hi
33691166 Qnp uwpdnubinquiht wnunppgywd wiunnpnohs shénily ac hun 39000 1 39
waynunhtiwghwih nkwyahwih hwdwp H gm
33691166 Eotiphtuhng whunnpnghs shénly 026 QL hwin 0 1 0
33691166 bptinhluhng wiutnnpnghs ohtinly 055 L hwn 0 1 0
33691166 Eptinhfuhng wiuwnnpnohs shéinuy 0111 < hwn 0 1 0
33691166 Egbiphtupng wiuwnnpnghs ohénly 0157 L hwwn 0 1 0
33691162 <bhYynpwlyintiphw whinphp phuwn R unuh 0 2 0
33691162 Euwnbipnyppniuh pbun Q<L unuh 0 2 0
33691162 Euwtipnghpnwh pbun Q< winuth 49500 1 49,5
33691162 Ppmigliingh nhwgunuwnhynud < huwin 2700 2 5,4
33691162 Unununiyjbingh  phiun 9L hwwn 0 2 0
33691162 Unununiyjtingh  pliun < hwtn 22000 1 22
33691162 Eatiphfuhngh phuwn ( E. coli 0157:H7 qc Y 0 2 0
hwynbwpbipbnt huwn)
33691162 =2nhluhngh pluw ( E. coli 0157:H7 9¢ | hwn | 45000 i 45
hwntwpbipbint hwdwn)
33691162 Lwnphnuh pinphn <L lig 2000 1 2
33691162 Uhwwnwlubip opuhnuiquiny 9L hwwn 100 200 20
33691162 Bwquwph snp wugiw <L uinith 27240 1 27,24
33691162 Sbbpdbunwinhy wtiywnnu QL g 20000 1 20
24211140 0G-6 pogwihlu titiply Ynpwynghwninghwih hwidwp 5000 S< thwp 0 2 0
24211140 0G-6 pggwjhts utipy Ynjwnghinninghuyh hwdwp 5000 i lhwp 32000 1 32
24211140 Shdwwnnpupiht Lwphu-pegwihts ubipl 5004; 9L thip 0 2 0
24211140 Shidwwnnpupiht Lwphu-peguwihts ubipy 500d; L hwp 40000 1 40
24211140 Mnihppnd EA-50 poguiht Uliply Ynpynghuninghuih q¢ i 0 2 0
hwdwp 5000;
24211140 | ""ihePnd EA-50 poswibl Uliply hnywynghuninghuih ac | pwp | 19800 i 19,8
hwdwp 5004
szanaso | Onolohd Al nongtul phup hudugun. o r T woup [ 100800 | 5 504
33211250 CFAS wpninbht cobas cl11 QL nnuh 0 2 0
33211250 CFAS wpnunbhl cobas cl 1 9<_ | wnuh 72100 1 72,1
33691162 funnnwlubp bwhiwnbudwd nbwgbunttph dtg ac winid 0 10 0
nbnwnpbynt hwdwp cobas ¢111 hwdwn
funnnywlubip bwiuwwnbuwd nbwgblntbph dbg
33691162 sk, bisskur cobag et hiiliiin q< nnuh 20900 5 104,5
33691420 Uhuh Ynytljin XP-300 9L hwwn 90 5000 450
Swihsh pninp Lwuwwnbuws
33691160
cobas c111 uwpph hwidwp e iy - o 9
33191310 Unjw udnpwndwl Julnuwihl ginpdwnp S< hwuwn 0 5000 0,0
33691420 el 1 Cartridge 600 Euns hwwn 240000 5 1200,0
33691162 | Lywgnn htinnty cleaner cobas 11wlwihquunnph hwiwp | EUS hwwn 14100 5 70,5
33691162 Ypbwinhupt npnodwl phuwn hwywpwdn Eus hwn 15500 10 155,0
33211280 Ppnigliingh npndwl phiue pun Muwje fubinbjuntih 2u; uu hww 2800 2 5,6
24321860 Ugnunuwljwt ppnt uu {hwtp 2500 4 10,0
24321240 U-puhpnp-Yuyswtynie uu {hwp 38000 2 76,0




Ufunwhwuhg htinnly tynipetin (nhntghnhdbphwdnupnuih

24451141 RInphr{2UU)- 3,5%, N,N-phu-(3- uu thwp 10000 12 120,0
widhunupnuhynnnbighjwdhl -5,5% (Sugnunin) :
24451141 Uhunwhwlpg htinniy Ujniebin/3nunwpwnthpn 20% Ul i 19800 " 237.6
hunuwbnys
Ufutnwhwiihg htinndy uinystin/Snutihnpt, N.N-nhntighj-N-
dbphwnih (opuhtyehy ) wnintihnudh wpnuhnbwn-
nihhbpuwdtiphibuphgnuuthnhu hhnpnpinphn,
24451141 “‘m'{'m o dwlhmn dlzlbpu , dwrt:tluqu,w[&)w- uu | gp 14000 8 12,0
wdhwqw,wypnnbwqu), dwybplnypwiht wlwnhy wniptip
(Uhnghd XL3)
Ufunwhwupy htnnid Tyniptip
24451141 /mhntighinhdbphwdntpnuh  pinphn- 2,2%, N,N-phu-(3- uu lhip 8000 8 64,0
wihl - hnu):
24311530 2nwdlh whpopuhn UU | jhup 1000 100 100,0
33691162 Uuinpndunnjuigbip-WH XP-300 Ul hwwn 40080 2 80,2
33651143 Unwpepent UL | jhup 2500 [ 25
24951400 hdbpuhnt jnn 1004; Uu huwwn 4500 10 45,0
33121270 Cwlwphninpywiht uljwwnwliubp uu hwwn 25 2250 56,3
33211500 <hijhlynpuljnbp UU | hwn 1000 25 25,0
24321250 Luhny uu lhwip 2500 60 150,0
24211150 Snitiwtymptin hhuinninghwljuwt uu hwwn 9000 4 36,0
24211140 LGdwwnnpuhiht Jill 111 uu {hwip 28000 2 56,0
24321311 Panunnuhy uujhpun uu [hwinp 2500 20 50,0
33691163 Eunnwqun uu [1Ted 60000 0.5 30,0
33691874 Uguwp dwlihn-wnuwihu Uy Lg 47000 0,5 23,5
33691879 Uquwp Ujnyitip <hupnup uu g 66000 0,25 16,5
24211210 Lbpyutynie Uwy-Sppniugwin uu lhvp 13500 1 13,5
24211210 Lbipywtynye Mndwinyulh Shiiqu uu lhup 12600 2 25,2
33211320 Lbwunhun B hwynbwpbpdwl wpwq phun Uu hwwn 250 40 10,0
33141176 ANULH hwpinbwpbpdwl wpwg phun uu hwwn 500 40 20,0
33141212 Lnphnipjwl phun uu hwtn 80 10 0,8
33141143 Ubwph$hljwwnnp uu huwtn 9 200 1,8
Cunwdbiip 64685,0
SELULUL MhSNRSLLLM U 4PUULL3ULUSHL LBNMIGP, ULFLULNPNINU LGP
30197620 @nnp, A4 $npdwinh 1/21x29,7/ <L huwn 1600 550 880,0
30197620 f3nune, A4 $npdunh 1/21x29,7/ Uu hwwn 1600 55 88,0
35821400 “Hpngubip uu hwwn 6000 6 36,0
30192739 f[dninp, A4 Hnpdwinh gniuwynp uu hwn 1500 10 15,0
30192780 Epwlpwu Uu hwin 300 100 30,0
22811190 Uwbhunwpwlwt gppn uu hwwn 100 400 40,0
(Inpwuwliliutn, npintin prplipp dhwgnd Gu
22851200 G o wipwllbn/dbd/ uu hwuwn 1000 25 25,0
39263200 Spwubtywluwht ghpp UU | hww 1200 20 24,0
22851200 fanpuuwtwl uu hwin 750 30 225
22851200 Bnpwwwliwl uu hwn 400 50 20,0
22851200 [Bnpwwwlwl uu hwiwn 200 50 10,0
22851100 Upwquiljuptibp UL | hww 180 160 28.8
22851200 fAnpuwwuwl,ynhdbpwiht punwup, Duy uu hwwn 13 12000 156,0
30197220 “wnhgutip, husk 20 phpeh hwdwp Uu hwn 650 10 6,5
30197220 “wiphstin, dhtigl 20 phpphg wby Ul hwin 1600 5 8,0
30192111 [uiiwp, 2nwduh pundhlh UU | hun 400 50 20,0
30192121 Sunhbwinp gphy Uu hwwn 100 1200 120,0
30192125 Uwplbpubp uu hwun 200 50 10,0
30192125 Uwuwnhwnubip uu hwwn 100 400 40,0
30192133 Unphsubp Uu huwin 300 30 9.0
30192160 Gunphfulibn UL | hwmn 250 150 37,5
30141260 Lwayhs-npwdwpynuiht dbpbuwtbph duwyun|blubp Uu huwin 150 1000 150,0




42416700 Puqliwpnn gpuublywlwiht uu hwun 30000 3 90,0
30192100 Nwnht hwuwpuwl uu hwwn 100 20 2,0
30199710 Opwplbip uu hwn 15 4000 60,0
30197100 Ywphsh dbunwnwiwpt Yuwbip,thnpp uu hwn 100 200 20,0
30197112 Ywphsh danwnuiwph Yuwwlap,dhohu uu huin 200 200 40,0
30194810 Lwlintibp uu hwwn 200 20 4,0
30192210 Mnjhdbipuht htptiwlugnit dwuywtit, 48ddx1004 uu il 1100 20 2,0
nbnbuwlwt,dbd
30192710 Unutidwidwwinhw, gpuwublywluht Uu hwn 400 400 160,0
39141100 Uduwgnbiph nwpwyubp Ul hun 4500 5 22,5
30141200 Swiquuwnp, gpuublywlwih Ul huwn 4500 5 22,5
30199400 Unutidwwywinyws Gud Yusniu pnin@ uu hwwn 200 30 6,0
30199400 Unulidwywinygws Yuad Yugsniu PR uu hwn 250 30 7.5
30199430 f@nune Uynwiubiph, wnpgulbipny uu hwwn 1500 50 75,0
22811130 Opwwnbunp uu hwn 3000 10 30,0
39263600 Ingunnnuh gpwublywlwiht uu hwwn 600 6 3,6
30192111 fGwlwph pwpahlubp uu huwitn 350 10 3,5
39221490 Uwniuqubip uu hwin 300 10 3,0
39111140 Upnn uu hwin 12000 5 60,0
39111180 Upnn gpuublywluih Uu hwun 80000 2 160,0
39111180 Upnn gpuubtjwlwiht uu hwin 30000 18 540,0
Cunwibup 3107,9
SLSEUULUL 1 UULEhGhELRY LSNRE@G, UNPULLALER W UUrPUINPARULED
24451141 Uhuwnwhwunn dheng 1; G hwin 700 200 140,0
39831280 Uwwlh dwppbynt htinniy < huin 400 300 120,0
39221410 Uyt 9< hwwn 1050 20 21,0
39221400 Uyt - uwyny Q< hwwn 3000 90 270,0
39221350 Pudwlw dhwliquidju oquwgnpddwl < hwn 5 8500 42,5
39224331 "oy 10| < hwwn 700 10 7,0
39224331 “tny| 5; < hwin 500 10 5,0
39224333 Tny| dEnwnjw / ghtlwuwn 10 | < hunn 1500 12 18,0
39713410 “tnyp odwppuyny q< huin 4000 10 40,0
33761100 2nigwpwth pninp QL hwwn 100 660 66,0
33761100 2niqupwih pning 2 sbpin < hww 150 3600 540,0
39221420 2niquipwth unquitiwl < hww 800 120 96,0
33761400 fenph wudtinnghl tiplpbipun / z- wale 21 udy K hwn 800 450 360,0
39513200 fenpel uwlwl hhjwlnh htvwgnndwl AL hwiin 3500 60 210,0
33761300 f@npli upphs funhwingh 2 sipin QL huwn 350 500 175,0
39831283 huptwdwpph n Q< huwwn 500 50 25,0
39831243 Lywgph thnoh < g 800 750 600,0
39812410 Ywhnyph |wp < hwwn 700 12 8,4
39221400 Ynnun 1§ 9< hwn 600 40 24,0
39713410 Cwwnwly dwppnn huplwdwpnhs L /pwdynn/ QL hwwn 8000 35 280,0
39831283 Swnnwlh jwp pwdpwlyuw Q< hwwn 1300 120 156,0
39835000 Lwwnwlh thuyn < hwtn 1200 40 48,0
39831246 <binnily obwin Q< lhwp 500 1000 500,0
39831246 <bnnily o6wn 0,33 < hwwn 500 10 5,0
18141100 Qbinting nkinhub < hwwn 250 1100 275,0
39831241 Qbinph o6wn < hwn 220 350 77,0
39221400 Uhlpn$hppuw < | huwn 400 10 4.0
39531800 Lwhiwdnunph gnpg < hwwn 2500 10 25,0
34921440 Mwundwub nwppw Ywihwphsny / Ynp funpp 80; <L hwn 7000 4 28,0
34921440 Mwundwub nwppw Yuithwphsny /punwtlynis 10 < hwwn 2300 15 34,5
34921440 Mwundwub nwppw Yuihwphsny /punwtilni 2 K hwn 700 5 3.5
34921440 Mywundwub nwppw Yuihwphsny /pwnwlilnis 40 < hwwn 4500 5 22,5
39221400 Mwuwndwub inwppu Ywihwphsny 60y QL huwin 7000 14 98,0
19641000 Mnjhkph buwiht wwpl pwihnth 60y 9L huin 200 1000 200,0
19641000 Mnjhtph|blwht wwpl pwihnuh 120, 9L huin 300 50 15,0
19641000 Tinihtphibuwht wwply wnph wwnl 30 | 9Z | humn 300 1150 345,0




39831246 Uwthwlignyg dwppbijnt nwjupw < huwwn 330 820 270,6
33721100 Uwihpbint wéth Q< huwwn 150 2000 300,0
39221400 Ubmuwiup jwpe 9< hwwn 150 100 15,0
39831278 Uywuph (Jwgdwt htinnly 9L (hwp 350 2250 787.,5
39221490 Uujnitig wynuwihtib dhiny/ dbnwnwluit uwniug < hwwn 150 330 49,5
39831240 £np /dwfby < hwp 130 6500 845,0
39831240 Linp 1| /dwuby QL hwn 250 200 50,0
39811300 Onh puiputignighs 9 | humn 450 220 99,0
39518300 dhpwpnidwluit uwwlibn (1,500x2,204) EUS | hwn 2500 400 1000,0
39518300 “hpwpnidwljul uwywtlibp (1dx1,100) tus huin 1500 350 525,0
33191650 Pdalwlywl hwgnww/ fuwwp tUs huwn 8000 300 2400,0
19641000 Minjhtphibuwiht wwpl puginup (2o} hwtn 180 4000 720,0
39831278 Unwup _Juitiunmt htinndy EUS_ | jhup 350 1000 350,0
39831240 £inp /duly [51a} hwp 110 4000 440,0
39713410 Swinwly dwppnn hupwdwpphs ny; /pwdynny/ Eus hwwn 5000 30 150,0
24961200 Lnp 1| Uu hwn 150 660 99,0
39831210 Uwwup (4. hbinmy 1; uu hwn 300 333 99,9
39831240 Uwtihwtgnyg dwpibynt dhe nwifupw uu hwn 300 330 99,0
33761100 2niquipwih pnupe 2 sbpn uu huwin 150 665 99,8
33721100 Uwihpbnt wadkih BIC uu huwwn 130 765 99,5
39513200 fonpb uwwl hhjwunh htinwgnindwl uu hwtn 3500 28 98,0
44611130 Fpywdth fjuntuwwgnighs Ul hwwn 6000 100 600,0
44423680 (Ipqwdtuht hwdwlwpgh dwu (dwiuuwswith) Uu hwn 28000 25 700,0
18531100 Lybpubp uu hwn 3000 333 999,0
39831243 Lywgph thnoh uu lq 800 100 80,0
31161240 Ynunwlhsubp uu hwin 145000 3 435,0
38311100 Ellinpnuwiht hobinp uu hwn 1960 1 2,0
38311100 Elayupnliwght Yotinp uu hwwn 12000 1 12,0
39515440 Sipnwywpwagnyp ninnuhwjwg Uy W 6500 76,45 496,9
39515420 Shipnwywpwgnyp ninnwhwjwg uu Ui 15000 8 120,0
42911180 fepywduh Gupwluywih qunhs thwlwuny uu hwwn 290000 1 290,0
Cunwdkup 17216,0
<UUULUNGh2LEN,LUUULUNrGU3hL UUFRUINPNRUTLER L MUPUSULED
30211230 Swdwluinghs ipwlwqy wnwg dntshunp Q< hwwn 119840 15 1797,6
30237490 Swdwlwngsh dnbihunp < hwn 38940 20 778,8
30239170 Puiqdw$niulyghntuw) jwqbipught wnuyhs / guuguwihts L hwn 230000 6 1380,0
30239170 Puquwniulighntiug Lwabpwiht wwhs / ng guiigwht <L hwin 110000 3 330,0
30232231 Swdwlwpgsh Ynpw ufwywnwl /4TB <L hwwn 40800 2 81,6
32421100 Swliguyhl dwnifu cat 6e AL dtinp 0 2135 0,0
32421100 Swlgwjh dwinifu cat 6e q< dtitnp 128 1220 156,2
31321110 Stiuwughlh dwnifu < dbinp 0 1000 0,0
31321110 Stuwhughlp dusnifu Q< ukwnp 152 500 76,0
31321110 Wthwywph dwiniju 9< dbinp 0 300 0,0
44322300 Lbnwhunuh dwnifu < dbwnp 55 500 27;5
32551150 Luwihnnh qwp 9< hwtn 300 20 6,0
30237132 Suhsh wp (USB) < hwwn 1500 15 22,5
32421300 WiFi uwpp < hwtn 6000 10 60,0
30141380 RFID shuy < huin 300 200 60,0
30141380 RFID shw dwuwgpynn < hwwn 400 200 80,0
30216200 RFID shwh Swjuwgpnn uwpp < hwin 14000 1 14,0
30141380 Ricoh325sfnw pwppphoh shuy Q< hwwn 0 10 0,0
4432000 | “Wwluingguht “""‘9‘:;‘;(‘);’;“"9"" e | o | i 348 100 348
30237112 Cwidwlwngsh hnuwtiph utingdwl uwnp q< huwn 4380 20 87.6
32421300 Swugw|hl pwdwlwpwp < huin 3900 20 78,0
30197231 Hulih Py 4 | huwwn 9.6 5000 48,0
30237460 Uinbnuwpwp < hwwn 3000 20 60,0
30237460 Uwnbnuwpwn wlijwp QL hwwn 8760 3 26,3
30237411 Cwiwlwingswihl uluhl < | hwmn 1560 20 31,2




30237412 Lwdwlwngswihl dyuply wiwp < hwwn 3600 3 10,8
30232231 Ynun uwywnwly SSD Q< hwwn 8199 10 82,0
31681150 <hannnipjwt dhypnufubdw 24C32 9L hwin 1000 10 10,0
30237113 Rj45 Ynubtijnnp < hwun 21 1000 21,0
30237111 Utinigdwl dwpinlng < hwin 12800 3 38,4
31151120 Ubuwihwl ulingdwl uwpp < hwn 48800 3 146 4
30232231 Upunwphts Ynow uludwnwl 9 huwn 51000 2 102,0
32324900 <bnnnwgnyg < hun 51000 20 1020,0
31221270 Ujhwwph pudwlwpwl QL hwun 2200 b 11,0
31221270 Uithwywph dhwgnuiutip 9L hwtn 200 30 6,0
31221270 Ujbhwiuph dhwgnudubip 9< hwwn 200 30 6,0
44322100 Uwnibu hwdwlwngsh, UTP cabel uu Ubwp 190 305 58,0
Cunwibtp 6747,6
Chuwpwpnipjwl dky oquiwgnpdyny qubwqut wypwiptbp b bynpbp
44111412 Ukpngny ubipy < hwn 800 50 40,0
19121700 Uphbunwljwt Yugh < qd.d 6000 30 180,0
39837000 Udhy wngny / pwlh QL huwwn 2500 10 25,0
44511110 Pwh tunpp 9L hwuwn 1500 3 4,5
42415220 Ponuwuwywly Q<L hwin 18000 3 54,0
42415220 Pbnuwuwywyh wuhy q< hunn 3600 3 10,8
39241130 Yutwlubp poeh < | hwn 1500 10 15,0
39241130 "hwuwlubp pnph /ibgydh/ 9L hwwn 40 300 12,0
42121270 “Hhunwhnph wndy Yninnnyry6unssii F50 < hwn 75000 2 150,0
44221141 “Tnwb pntiwly < hwn 1200 30 36,0
44423100 Twit quitiq. biliupwlwl QL hwn 2000 2 4,0
44521120 nwil thwlywb Bypnynuit G< hwn 3000 50 150,0
44521121 “wl thwlwuh dhonily 8 ud < hwtn 2500 70 175,0
31711160 Elbywpnn ubkipdh < wnnuh 300 30 9,0
31711160 Eiljinpnn 2,504 < hwin 40 150 6,0
31681900 ElEyunpwlwl wlhnups (naty) < hwwn 40000 1 40,0
44423680 fOpYwdlh Yupqwinphs Q< huwin 8000 10 80,0
30192232 hUplwlusnit dwuwdbl (oht.) < | humn 600 20 12,0
44820000 Lwp bunwpwliubiph < g 5490 5 27,5
44423680 LbUw shtwpwpwlwt q< hwin 1500 5 7,5
39299320 Lngupwuh hwbih wnwbg spgwlwlh gL hwn 5000 5 25,0
44831500 Lnihs 51 a< hwwn 5000 4 20,0
44411300 Lywgwpwl < hwwn 25000 5 125,0
44423680 Onuh bypn nnw 9< hwun 700 100 70,0
42131470 Onpwlh dbwn. dwubp 9< hwn 1490 8 11,9
39132220 “wfuhg A< | hun 200 60 12,0
39151220 “whnyph dwubn /wbpy Ywhnyph/ < huin 200 100 20,0
39151220 Ywhnyph dwubip /wbiljnitwl bplup)w thnpp < huwin 40 100 4,0
39151220 Ywhnyph Jwubip /patwly/ L huwtn 300 30 9,0
39151220 Ywhnyph dwubp /pwpwlwuuhhy/ Q< hwtn 1500 30 45,0
39151220 Ywhnyph Jwubp /dnup/ < hwuwn 300 100 30,0
39151220 “whnyph dwubip /ninp/ Q< hwwn 1100 50 55,0
39151220 “whnyph dwubip Ahwluwt/ < hwwn 500 70 35,0
44521100 Ynnubip < hwwn 2000 3 6,0
44531193 Ynynunnt wilniuwly 9<_ | hwwn 700 20 14,0
44163200 Yninnnt wugnul Q< hwwn 700 6 4,2
44163200 Ynjnunnt bnwpuigtuhg 9L hwwn 1000 9 9,0
44163130 “njninnt funnnduwly F110 0,25 4 2,244 < q&d 450 5 23
44163130 Ynyninnt lunnniwly F110 0,250 1,504 < q&d 300 3 0,9
44163130 Ynyninnt funnnduwly F110 0,5 4 2,501 9< qou 900 5 45
44163130 Ynjninnt funnnduwly FIO 1§ 2,504 Q< q&u 1500 5 7.5
44163130 Ynynugni funnnyuly FI10 2 3,204 L qdu 2700 5 13,5
44163130 Ynjninnt junnnyuwly F110 3 4 3,200 < qdu 4000 2 8,0
44163130 Ynyminnt funndwly F50 0,34 1,500 < qdéu 280 3 0.8
44163130 “njninnt funnndwly F50 0,50 1,500 L qdd 350 3 1,1




44163130 “njninnt funnndwly F50 14 1,500 < qdd 550 3 1,7
44163130 Ynyninnt funnnquily F50/2 14 e qdu 850 8 6,8
44163200 Ynjninnt jugwu 9L hwin 400 4 1,6
44163200 Ynjninnt dnibin Q< hwwn 320 6 1,9
44163200 Ynynignt nthghw F100 9L hwun 2500 5 12,5
44163200 Ynjnipnc wnnu 5 bnpwiing 9< huin 2000 2 4,0
44112730 Yupnn uudunwly < hwn 700 50 35,0
44511700 Lwppwonipp 9L hwuin 2000 4 8,0
24311300 Lbnniy dbfu 9L huwin 800 20 16,0
44831300 <tipdtnhly/ wynnlywh obpdwluyniu < hwn 1000 10 10,0
18141100 Jbinung pwlynpwlju < qnyq 300 100 30,0
39839300 Quit phuly < | hun 5000 6 30,0
39541170 Bnuwjwl < dtnp 300 70 21,0
24911500 U'H unupud 100q < hwin 2000 30 60,0
44191700 Ubinp 54 9L hwwn 2000 3 6,0
9211620 8nn 2 nwlunwbh 1 9L hwwn 2500 3 7,5
44423680 Lwuwunlyw $hgninth < hwwn 300 10 3,0
44111413 Lbny wgbivintiwhl hhdpny kulpis Guad hwdwnpdtp 9L Uq 4000 25 100,0
44411740 Lunwynp q< hwn 35000 5 175,0
44411740 Lunwyntph wy. uwihwphs 9< | hwwn 4000 50 200,0
44411751 Luwnwlntiph oph wwpwih Yndwybluw/pusniyh < hwtn 5500 60 330,0
44521100 Cybgwip nnw < hwin 10000 10 100,0
42131100 MNuwwnnthwbh thwlhwt /pn <L huwin 600 100 60,0
44423650 Muwlh wnjhibpwiht (nbnhtib duywybuwpehitn) < hwuwn 600 20 12,0
31221242 M| nynwyliy /6040 < hwn 6 1000 6,0
44163121 M. funnnyuwly F20 $njquwuwin Q<L qd.0 500 40 20,0
44163121 M. funnnywly F25 $niqujwyuin < qd.d 710 40 28,4
44163121 M. funnnyuly F40 $niquijwwin q< qd.u 2000 12 24,0
42661200 M| funnnywilyp gnndwl uwpp G hwn 20000 1 20,0
44531191 Mnudjw funnnywly 0,84u < qdd 1500 60 90,0
44531191 Mnudjw funnnduily 0,220 Q< qbu 4500 120 540,0
44163200 Mnudjw funnnywlh wulyniuwy 90 , 0,844 K hwun 500 20 10,0
44163200 Mnudjw funnndwlh wilgniawy 90 , 02200 < qdu 800 25 20,0
44163200 Nnuéjw funnnulh bnwpwotups 0,220 L hwin 1500 6 9,0
44163200 Minbdjw funnnduilih bnwpushuhs 0,8 q< huwn 1500 10 15,0
44163200 Tinudjw funnnywih gnndwl wnhun) < hwn 400 30 12,0
44163200 Mnudjw funnnywlh Ggwdwu 0,220 < hwin 500 50 25,0
42121150 Minduy 9L hwwn 16000 5 80,0
ASIS1240 Mg piniugh 9< | hwin 1200 20 24,0
44191700 Mny pwhh Q< hwwn 1000 5 5,0
24911200 M4U_unuhtd 0,94q < hwwn 1500 5 7.5
44531160 Mununwly/ cemeuxa 9L hwn 3 2 000 6,0
44511330 MNunnunwlwhwih hwwpwdnt < hwn 8000 5 40,0
42131170 Sbnnigdwt thwljwl < hwwn 1500 85 127,5
39721510 Spwinwpwgnighs LS hwiwn 50000 2 100,0
42131170 2ph_ thwlut / 3/4 9L hwn 2000 10 20,0
42131170 2ph_hwljuwt /wnyn < hwwn 2000 30 60,0
44411110 Snp fuwnbhswht dnpwl 1 nbnwuh 9 | hun 3000 100 300,0
44411120 2ph dnpuwly bpyinbnwh 9L hwin 10000 30 300,0
44411120 2ph dnpuwly Eplubnuih wwnh dpugh Q< huin 10000 20 200,0
44163170 MHanhub funnnduwly dhmuérénquwdpqupqwb 8yynn, bpy ac i — 150 1500
ul
44163170 Mtanhub funnnduily upjhlntihg 9L gqdu 600 100 60,0
24951130 Uhhynt 2804, pPwihwlghy q< hwwn 1000 120 120,0
30192233 Uhihyntbr pwpwl &nnhly 9L hwwn 150 20 3,0
42131490 Uh$nl/ bplywpny L hwuwn 1200 100 120,0
44191700 Uthpbij-punip nishybipuugy q< hwin 3000 2 6.0
24911200 Unuhd kwnpupn 6 U 8L 1 1000 5 5,0
24911300 Unuhué uwhphp Gud hwdwpdbp 9< L 2600 2 52




24911500 Unuhud puiph 0,84q GL hwin 4500 2 9,0
44192100 Ppthnin shbwpuwpwlwt 8504 < hwwn 2000 20 40,0
42511124 Onuwtigph Gwnuuip < hwn 800 25 20,0
39714100 Onwthnjuhy < hwwn 7000 4 28,0
44511330 Ll wununwlhwhwt 20V q< hwn 40000 3 20,0
44511370 Bl upnnunwlwhwth g fublubip < | hun 400 10 4,0
43121190 <npuinhg q< huwin 50000 3 150,0
44511400 Snpwnhsh quyihlnt F5 9< hwtn 600 10 6,0
44511400 <npwnhsh quiyhlynt F6 < hww 800 10 8,0
44511400 <npuinhsh quyhynt F8 < hwwn 1000 10 10,0
44511400 <npunfsh quihlynt FIO A< | hun 1200 10 12,0
44511400 Cnpunhsh quiyhlynt F12 < | humn 1500 10 15,0
31641217 Snppbh ubindwy F16 < hwn 20 200 4,0
31641217 Snpbih ubmdwly F20 < | hun 25 200 5,0
44511100 Ubinwnh Jlypuin §< hwun 3000 3 9,0
44511370 uwpunngibiph huwpwdni 9< | hwwn 3000 2 6,0
44191700 fdpYwduh Ywpquinphsh dhowinpp Al hwwn 100 100 10,0
44411110 2nh Snpuily UGY nbnwth < | humn 3000 100 300,0
44191700 Ulpwin wiwuwnhl funnnywlubp Yupbne < hwn 5000 2 10,0
44191700 Luwnwlynuph gnpb Q< hwn 2000 10 20,0
44112800 Glwunnnduily 9< | hun 1000 40 40,0
31683400 Mwunhl funnnywlp Ygwdwu / bnwpuipfups 1/2 < hwn 100 50 5,0
44163200 Mwuwnhy kunnnyuilh Ygwiwy/ wlymtiwly 90° 172 9L hwun 100 100 10,0
44163200 Mwunhly funnnywjh Ygwiwy/ wgnus 12 <L huwin 50 100 5,0
44163200 Mywuinply [unnnyuilh Ygwdwu/ wulniuwly 45° 1/2 9L hwn 100 60 6,0
31683400 Mwuwnhy funnnywlh lgwdwu / bnwpwsfups 3/4 < hwwn 150 30 4,5
44163200 Mwunhl funpnywlh Ygwiwu/ wlymbiwly 90° 3/4 L hwwn 100 50 5,0
44163200 Udbiphywlw wjwuwnhy funnnduilih 172 /duniw K hwn 1000 30 30,0
44163200 Udbphlywiyw wwunhy funnnywlih 3/4 /dwiw < hwn 1200 20 24,0
44163200 Miwuwnhy funndwhh Yowdwe/ ZL 172 F/dwdw < hwin 500 50 25,0
44163200 Miwuwnhl funnndwih Ygwdwy/ wugnd 12 F/ dwdw < huwin 400 50 20,0
44221141 “twl pnliwly wynuipub < hwwn 6000 15 30,0
44221141 twt patwy bplwpw < qnyq 3000 10 30,0
44521120 b thwlwbh Yndwblin thuwyunjw < hwwn 10000 10 100,0
44531110 Munnunwl thwyinh 50 0 9L hwn 10 1000 10,0
30192230 Uyns tpllynniwh 9< huwin 1000 20 20,0
31221241 Hnpbiy ghuyub unywpwipneh/ N < hwwn 30 1000 30,0
44161160 (pywdth pwpsp Gupdwl funnnyuwl 90 ud EUS hwn 40000 20 800,0
44161160 (Fywdth pwpdp Gusdwt hwugnygubiph hwupwsnt Eus hwwn 11000 20 220,0
35111130 Ypwldwnhs 5 Yg Lus hwn 8000 30 240,0
35111130 Ypwldwphs 8 g [x¥1a) huwin 9000 4 36,0
35111130 Ypwydwphs 10 4g EUs hwwn 11000 4 44,0
39224550 Pnjuwlighly duibl EUS | hwm 3500 8 28,0
44163300 Pnnpuly EUsS hwn 4500 8 36,0
44163170 <pnbhwiht hwiwbwnpgh ginquily /|wg/ EUS huwin 25000 8 200,0
42418100 dbpbywlh Ghuywy UU_ | dbp 1050 152 159,6
44221140 Uynuihub phpdnludpewyny nnin Uu I} 120000 4,8007 576,1
44221100 Uynuihtbi plpdnlunipngwyny wwnnthwt Uu o 90000 4,1966 377,7
44221100 Ubinwnuuywub wwinnthwt uu hwwn 25000 1 25,0
44221120 Uwjwlyts thwpbip bplpbpen uu P 10000 2 20,0
44531191 hunnnjwy funpwtiwpnuial uu ¢ 1100 90 99,0
44551100 Ruwwwly uu hwwn 800 100 80,0
39522290 Gynnyuwnnihwitbiph Undwiluyuwonuyuw guitig uu hwin 7000 14 98,0
Cunudbp 9642,4
ELGUSPULUL UUrLUYNrNRUTLET, MULUULER, HNPOhLLLP
31531660 Lbn, iy E27-30W A< | hum 730 30 21,9
31531660 Lbn jwdw E27-50W 9< hwwn 1380 30 41,4
31531660 LED jwiy ubpnpynn 9L hwtn 1200 50 60,0
31531660 LED judwy Ubipnpynn < hwun 4167 300 1250,1




31531660 LED jwduy wpinwpht q< hwwn 6400 300 1920,0
31531660 LED jwiy wpinwpht 9< hwn 1850 30 55,5
31531660 LED jwiw wpunwpht < hwin 3810 70 266,7
31531660 LED jwdy 9L hwn 410 150 61,5
31531660 LED jwdyy Q< huin 1080 100 108,0
31531660 LED qwiy 9< hwn 280 300 84,0
31512300 Lwdwy gbipblwihu G< hunn 600 50 30,0
31512300 Lwdyy ghipbljuht < hwwn 1800 50 90,0
31531210 LED jnwunnne 220V 100W L hwn 4800 10 48,0
31531210 LED |nwwwnt 220V 150W <L hwwn 8496 10 85,0
31531210 LED |nwuwinnt 220V 60W A< hunn 3300 60 198,0
31531400 LED gwh 220V 120w QL huin 85000 2 170,0
31512300 Cwinqbils jwidyy 24V/25W G< huwin 7000 10 70,0
31512300 <winghl juiduy 22 8Y 50W,66.35 < hwwn 19000 10 190,0
31512300 Swinghii juiduy 24V 25W, G6.35 < hwn 14500 10 145,0
31512320 Puiluntiphnghn iy %< | hum 2400 50 120,0
31512321 Pulntiphnghn, jwiy 9< hwwn 4800 50 240,0
31512320 MHagbiynyjwnnp < hwwn 75000 20 1500,0
31684400 Ywpnuwl lnbin < hwwn 300 30 9,0
31684400 dwpnwy 1nbn hnn. 9< hwwn 240 50 12,0
31684400 Ywpnwl 2unkin hnn, Q< hwtn 500 30 15,0
31211221 Unuwphl wligunnhs 1inkn < hwwn 30 0,0
31211221 Upunwphl wligwnhs 2unbin < hwwn 324 30 9.7
31211180 “wlunyh whigwinhs L hwin 150 20 3,0
39713510 Upnnih obipdwht wligwinhs < huwin 1500 15 22,5
31211221 b nwpwgnighsh wligwinps 1wk 9L hwun 500 50 25,0
31211221 5 wwpwgmghsh whgwunh 2 nkn 9< hwtn 700 50 35,0
31211180 Uduindwin wigwinhs uifhs 220V 16A < hwwn 510 20 10,2
31211181 Uynnidwn whswinhg iihs 220V 25A < hwin 480 10 4.8
31211182 Uyinndwin wligwinhs nidhs 220V 324 < hwwn 480 10 4,8
31211340 Lnuwph Yuwpguiynphs 220V-110V 500VA 9< hwwn 12000 3 36,0
39715200 £l nwpwignighgh jnugny 9L hwwn 22200 15 333,0
39715200 5 wiwpwgnighsh thsnyp < hwin 5000 10 50,0
42211140 tunhwinguiht Junwpwt ubipnpynn_4unbn wwywlb A< hwwn 130000 2 260,0
39715100 Bahunpwlul by q< hwwn 0 4 0,0
44423680 B jwph dwypwlywy 1,5 < hwwn 5 200 1,0
44423680 £} jwph duypwlywy 2,5 < hwwn 5 201 1,0
44423680 b qwph Swypwluwg 4 < hwwn 5 202 1,0
44423680 £} jwph dwjpwlw 6 9L huin 10 200 2,0
44423680 B wph Swypwljwy 10 L huin 15 200 3,0
31341200 £ jwph Ybduhy 1,5 < | hun 12 100 12
31341200 b} jwph Yiduhy 2,5 q<L hwn 15 100 1,5
31341200 E| jwph duhy 4 < hwwn 20 100 2,0
31341200 EL jwiph Wbduhl 6 < | hum 30 100 3,0
31331280 b wp1x1,5 < | dtnp 93 200 18,6
31331280 Eljwp1x25 9L dtitnp 150 200 30,0
31331270 B up2x1,5 S< dbwnp 135 200 27,0
31331280 Ellwp2x25 9L dbnp 190 300 57,0
31331290 by wp 2 x 4 9<__ | dbnp 366 200 73,2
31331280 Ejqwp 3x2,5 < dbwnp 480 200 96,0
31331280 Ejjwp3x4 YL Ubwnp 844 100 84,4
31685000 Gplwpwgdwl hqunqwlwnhgu!hu 3 inhn < hwin 630 40 25,2
31685000 Gplwpwgdwl hwnnpruwpwph gifuhl 4 inbin < hwn 870 10 87
31651400 Ybynwhy duywytu < huin 150 300 45,0
44423671 Sndpti P16 4L dtinp 51 200 10,2
44423671 Sndpbk 420 Q< dbwip 57 200 11,4
31686100 bnwihly hnnuiigdurts Gnbungpng 9% | hun 180 200 36,0
31211221 Cuwndudwl inghs (nwwnshly) 220V 10A q< hwwn 2480 5 12,4
31211221 bnunn indhy 220V 16A q< huwitn 1550 5 7.8




39714200 Onnpuiljhs Eus | hww | 140000 1 140,0
39714200 Onnpuiyhy EUS | hwwn | 200000 4 800,0
39714200 Onnpuwljhs kus hwin 400000 1 400,0
39714200 Onnpulihs EUS | huwwn 300000 1 300,0
32551160 Lbnwlunubip EUs hwin 12000 14 168,0
39714200 Onnpuwljhs uu hwn 270000 1 270,0
33941400 Uwingupuitiibp UL | hwwn | 180000 2 360,0
42941190 Onwpwhs bblnpulwl UL | hun 37500 2 75,0
31711380 Elblyinpndwqbhuwlwl Yuihnyp uu hwwn 15000 2 30,0
31442100 Ynunwlhs dwpunynglbp uu hwn 2500 30 75,0
42111230 Ynuybipghnt owpdhs/ dnunn uu hwin 8500 10 85,0
31711200 Uphbunwljuwl ptiswuwwpwinh dwpnling uu hwwn 180000 1 180,0
Cunwibkup 11026,6
dunsLhe
9132200 PhlUght, nbignuyup < | 510 16000 | 8160,00
9132201 Phght, nlignuyup UL | jhup 510 1600 816,0
9134200 thabijwht Jwnbihp, wdwnwiht < lhinp 0 6000 0,00
9134200 "thabiwihl uwnbijhp, wiwnwht < (hwp 540 2000 1080,00
Cunwdkhp 10056,0
U4SNUGLELULEMh MUCLUSUUUUGT
31421100 Uwpwnlyng wyindbipbtiugh EUs huwin 40000 1 40,0
31421100 Uwpunlng wwndbipbitiugh Uu hww 40000 5 200,0
09211100 Luwninbip uu lhup 1500 23 34,5
34351200 Udinndbiptiuwbiph whyubp /wdwnuwght/ LUns hwn 30000 4 120,0
34351200 Uyunindtipbiwtibiph wlihyubip /8dtnwht/ EUns hwn 30000 4 120,0
Clnudbtip 514,5
U3%59NrouLUL L3NKMIGP
24441100 Ugnuuht ywpwpuwbnie uu Lg 250 50 12,5
44921200 Yhp Uu g 200 30 6,0
33691147 Inuwwjnyabip/pniiwphdhlwin Uu {hup 13000 7 91,0
Cununfbup 109,5
46PULULSLNIULUL SNh3L
37421171 Vwpquwl qunwly 55ul Euns hwn 4000 1 4
37421171 Uwpqdwl qunwl 65ud Lus hwn 6000 1 6
3742171 Uwpquwl gunwly 75ud [xFa) hwn 6500 1 6,5
37421210 Huwy EUS huin 13000 1 13
37421210 (3tp pupd/hbuwpwna EUB hwn 7000 1 7
38621200 Lwykip EUs hwn 50000 1 50
37421210 2niquithw)in tus huwin 105000 1 105
44423200 Uuinhwu Eus hwin 20000 1 20
37421210 Gwlqluy EUS [ hwn | 87000 1 87
37421100 Oppnwbnhl gnpg. EUns hun 30000 1 30
37451840 Duwpng 0,24q =V 1a) hwn 1500 2 3
37451840 Tulpng 0,54q Eus hwwn 1700 2 3.4
37451840 Owlpng 14g EUs hwwn 2000 2 4
37451840 Ouilipng 2lg EUn hwin 2500 2 5
37451840 Tuwlpng 5yg EUs hwwn 4500 2 9
37421210 Euwwtintip nuuwnwbh 304q EUs hwwn 4000 1 4
37421210 Euywnbip quuywiwyny 504q EUB hwn 6000 1 6
37421161 Euwwunbip dwwwybtt 2080%1344,544 EUS hwn 2000 1 2
37421161 Euwwinbip dwwwdtl 2080°19%4,50d EUS | hwm 2000 1 2
37431340 Vwpquwl hwnbjubph hwwpwdnt LUS hwin 16500 1 16,5
33191200 fFtipwwlinhly priddwt ubinus EUs hwin 120000 1 120
37421210 Unwghntup hbdwuhy EUs hwwn 100000 1 100
42131130 Swp thwpbp Eus hwwn 5000 1 5
42131130 Uwnp thwpbe [=¥1a) hwwn 2000 1 2
33151330 Lbynn-dywliwghts unhdinywnnp EUs huin 20000 1 20,0
33141186 Luwhiwpwqlh hbuwl Eus husn 7000 1 7




33141187 Lujwy tus hwin 15000 1 15
37521140 Puipnbs ubnuitih fuwry/ghinbihpubiph wpbnhly uu hwn 5700 2 11,4
37521140 fonpl ubinwuh quipqugling fuwn/phy/putiwly Ul huwn 2300 1 2,3
37521140 | @nph ubinuith qupqugting [qu/UnannMwbhl Uu hwin 4600 1 4,6
37521140 ALuhlubp fuwn dwqlhung UU | humn 4500 2 9
37521140 Phgh pnpn uu hwwn 4500 1 45
37521140 Swunwlubn hwiwnpdwt fuwn U0 | hwm 1100 8 8,8
37521120 DPuiqy uu hwin 900 5 4,5
37521120 Snhp wybiinpnp ubnuibsh fuwn uu hwwn 2800 3 8,4
37521120 Ruinquiqunn fuwn gnygbipny thwq uu hwin 1400 2 2,8
37451670 Ungbjwwbwuwwph wiwunhl Ul hwin 1500 4 6
37521120 Hwnmignnwlwt ubnwbh fuwnbp uu hwwn 3000 2 6
37521140 Sbphwpp pwwpnt gnpbip Uu hwin 2800 4 11,2
37311560 Lupin$nl UU | hwwm 1500 2 3
37311440 Cpphwpuinu uu hwn 1100 2 2.2
37451290 Sunwyutip Uu hwwn 3000 5 15
Cunwdblp 752,1
uchiusuveutr
45231119 Chuph dwuliwlh Yapwinpngdwt watuwinwupubp <PU nnwd [ 163160700 1 163160,7
"uGph, wwinnthwUOGRh G hwnw winu UG
45421110 L ulu‘lbqwr}pm df’:"w qwu&pfgzsm:} picl B (NTTR e (pewe—" i 997,5
45331113 SRR :l;;:z‘uﬂlm;‘mm%uwu UU | npws | 166000 i 166,0
UwlEplnigeujfit wRiwnwhplEp fudwpwpny
45231185 Swbwwuiphlibph huiup uu npwd 300000 1 300,0
el e Zh"w"mpatﬂ'nxﬁwmwm i L B [ P e 1 1332,9
[ ewdlwjpl Tjujwhh pupwghl Jepwlinpngnid [T
45251167 2wndhgh jmunh hnfuwphtnu < nnwd 1866540 1 1866,5
45311126 Utinignn onuidwiniuwiht g3 witighugiui wohusnuitp < npwd | 3960000 1 3960,0
Cunwdbtp 171783,6
DUNU3NKE3NhLLEP
79821170 Swwgpwlwt b wnwpwl Swnwjnipjnitiubip L hwn 3659000 1 3659,0
79821169 Swwagpwljwt U wnwpiwl Swnwjnyajniiubn uu hwwn 365000 1 365,0
79821169 Swwgpwljul b wnwpdwt Swnwinyejniubn tus hunn 1300000 1 1300,0
79821170 Swwagpwlw b wnwpdwl Swnwnipiniutiip Ul hunn 85000 1 85,0
90521320 St Ringuu puchnidbnh 9< | hun | 24840000 i 24840,0
hwwpwgnnu,thnfuwnpnud, nsuswignud
71351540 Sbiutihlulwl huynnnyajut Swnwnypyniutbin G< npwd 770000 1 770,0
71351540 Skfutipywlwl hulnnnipjut Swnuwynipiniuubip 8< npuwd 90000 1 90,0
50111130 Lh{m@ghhwubnh Ybpwlnpnguwu Swnwjnigjnitiibin 9L npwd 4000000 1 4000,0
79211150 Unihninpuiljul Swnwjniggnit KK hwwn 1440000 1 1440,0
71351280 Bnlpwpwliwlwl Swnuwynyent K< npwy 1500000 1 1500,0
79221100 Lwplwihts funphpnwinuiljwt Swnwinyeyniutibin 9L npwd [ 1000000 1 1000,0
63521200 Pbnubph thnfuwnpdwl Swnwinipiniu ktus npwd 600000 1 600,0
79411140 | Uwpnyuyht nbuniputtiph Ywnwwpdwt Swnwjnipiniu uu npwd 990000 1 990,0
79211210 Cupuiywhwlwy Yspwhulinnnyeyniu Uu npwd 990000 1 990,0
79111100 Ppwywpwbiwywy Swnwijnipniitiip uu npwd 1000000 1 1000,0
75111200 Opbiunpuljwl Swnwynupnt uu npuwd 990000 1 990,0
32411130 Lwdwgulg uu hwtn 936000 1 936,0
32411130 Lwiwgulig uu hwin 60000 1 60,0
65311100 BbYinpwliutinpiul pustunud uu npwd | 85640000 1 85640,0
65211100 Swgh pwofunid uu npwd [ 17700000 1 17700,0
65111100 hudbni oph pwotunud Ul npwd | 12000000 1 12000,0
64211120 __Uhgpuinwpwihti hinwfunuwhi Swnwinyajniiibin Uu npwd 1170000 1 1170,0
90511120 Hbugwnwihti wnph hwywpwgndwl Swnwjnysiniubin Uy npwd | 2700000 1 2700,0
50421100 | PRl uainpbinh dBnubinng il T ujuhuwlGu UL | npud | 6000000 1 6000,0
__dwnwiniziniilibip




Uujwnnnbiph Jbpwlnpngiwl Swnwjnyzjniibip’

uu h 80000 1 80,0
ekiageis Ubipwiniw dntinwdnid b hwiwuwpwlonnug wn
50111180 Uywnindbipbwtibiph (Jugdwl Swnwjniejniutibp uu npwyd 100000 1 100,0
50851100 Ywhnyph Ybpwbinpnguiwt Swnwynyeiniutibp uu hwn 980000 1 980,0
45511100 Ugunnuauniwpwlh Swnwynipiniu Uu hwn 100000 1 100,0
50751100 bipbijwlubiph Unpngdwl dwnwjnip|ni uu hwwn 600000 1 600,0
50751100 Hbnbultinh thnpgwpbinipyul wuuwuwnlan UL | hun | 290000 1 290,0
wbdtwlwadh pwwwinpwunnu
50311240 Mungbuhuiinn wwipplih dBpulinpngul UU | hun | 990000 1 990,0
Sunwinipiniiutin
72212300 Ywipbiph wpnhwlwliwgdwy Swnwinipini uu hwwn 884000 1 884,0
72411110 Sugptsbnud hunuinupnyeindUEh nbnwndu UL | hwwn | 904000 1 904,0
Swnwinyainil
79521100 Nubbuwhwbiwy Swnwnienit uu huwin 750000 1 750,0
50531150 Gwquijht uwpptiph wwhwuwbdwl Swinwjnipiniy uu hwin 300000 1 300,0
90921300 Unbbuntibinh nby wwjpwph Swnwynijniitbn Uu hwn 564000 1 564,0
90921200 Quwuwinniibinh nid wupwph dwnwinyajniy Ul huwn 50000 1 50,0
79341100 Inqwgnwiht Swnwynipnit uu hwwn 700000 1 700,0
Cwndhgutipny thnfuwnpwdhgngUtinh wwwhniuwgpdwt i
66511180 SRR R uu npwd 167000 1 167,0
92421100 |  @bPRERNY h‘“"";‘u"‘l‘:‘u’l";"a"r“‘:;“b"h S Uu | npwa | 956000 1 956,0
WnWnipnw_
50341500 Uuyunwugnipuwl mhuwh:gl:)lqshhph uwwuwplynwi / UOU- uu A 180000 1 180.0
64111200 [ Pnunwihts Sunwjnienittibp’ Yuyyws bwdwlubph hbn | UL nnwd 150000 1 150,0
79951100 Uhgngwnnuwiubph hbin Yuigws Swnwinyagniitibip uu npud 994000 1 994,0
50311300 | <t "”““’“‘"l"“:’f‘zgzphi‘:’;"’"h e |y [ gt | 220000 [ 220,0
_uwwuwnlnd __
66131100 Undlipryatinh bt Yuiusd Shobnprnipyul Uu | npwa | 72000 1 72,0
Swnwinyeiniu
programming services of systems and user software
72211100 | /fhwdwlwpgtiph b ogunwgnpdnnh Spwigpbiph dowldw uu npwd | 3390000 1 3390,0
& 4
programming services of systems and user software
/hwdwlwnpgliph U oquiwgnpdnnh Spwqpbiph dawlydwl
72211100
Swinuwynieinittip/fbynpntiught wnnnawwwhwlut i fipdel | 11500000 : a0
hundwljwngh uwwuwplnud-Updtin
75241100 Nuunhywunipiut Swnwinupyniubph / pedpwlnpbph Ul i 600000 1 600.0
wibilionjw wwhwwlnieni
75241200 Nunhlwtinyejwl Swnwjnipniubp uu npwd 996000 1 996,0
gsiaiza0 | POl wenpuinnnhulERh Gnndhg dwmmgden | nnwd | 900000 ! 900,0
Swnuwinugniu
7i63rno | Uwnebnh unniquul Swnwpnupn UG 7 uwng. wef UL | npwd | 850000 1 850,0
unnignud, nnqusuhnud U swihwgpnid
Rdlulywt hhduwnlubph Ynndhg dwwnnigdnn
4124
85141240 gl B St uu npwd | 25137000 1 25137,0
50111130 Uywndbpbiuwubiph |bpwunpnguwt Swnwinipyniiubn Uy huin 100000 1 100,0
6372mg0 | CUndulul ”’h“”'“bg";::’:p":lth"“w verawsPnt iy b | 6000 10 60,0
__ownnuaintl
44423300 Pbnuwihnfuwnpnd UU | npwd | 100000 1 100,0
50531110 Rbnmgdwl Ywpuwih Yapwlinpngnu uu nnwd 160000 1 160,0
45251167 (pqwdlh Ywjwuh Jbpwtinpnqduwt Swnuwynipinit uu npwd 520000 1 520,0
63521200 Ptinutiph dhnfuwnpdwt Swnwjnipniu Ul npwd 990000 1 990,0
48981700 Suthsh Spusgpushl paRIeIAGER gl UL | humn | 30000 1 30,0
Spwanwiht uywuwplnid
71311180 Lwhiwqdwbwfuwhuwpughu thwunwpnpbiph Yuqunu uu npwd 560000 1 560,0
64235180 | <bnnwnwhwnnpnnidutiph hbnwndwldwt Swnwjnipnit vu hwwn 980000 1 980,0
71251100 Quihwannyaintt, gdwgnpbph Ywqdnud uu npwd 120000 1 120,0
71251100 Stinnbighwljwl dwnwjnieiniu uu npwd 300000 1 300,0




98391200 PpYwdliwiht hwdwhwnpgh dntinwdnu uu npwd 898000 1 898,0
Elyupwlwt uwnptinh, uwppwynpmidubiph
e Ubipwinpngdwl b wwhuwhdwy Swinwinipinitititin e nnwd 200000 ! i
50531140 Lwhuwgdh {pnpdwpliinip)wl Swnwjnipinil uu npwd 40000 1 40,0
71531100 Chlpbinh nbhibhGulul Uhbwlh nwunibwuhpnyewt uu i 750000 1 750,0
dwnwinyainil
85311210 funphpnuwingnipwl swnuwnyeiniu uu npwd | 990000 1 990,0
63521200 Pbinubiph thnfuwnpiut Swnwinyajni Ul npwd 600000 1 600,0
50221240 Gnwlguwl dwnwjnipiniu Uu hwwn 50000 1 50,0
79991140 Muwydwlwgpbph hulnnnipjuu Swinuyniagni Uu hwwn 980000 1 980,0
72311300 Unwnwpuintbiph dowliwt Swnwinianitiibp Uu hwn 980000 1 980,0
71251100 Quithwgpnipywl Swnwjnyainiu uu hwwn 400000 1 400,0
Cunuiiby 233337,0




